Question Booklet Code SLRC-2024 Paper _ I Question Booklet No.

E Roll No.

Time Allowed : 9:00 a.m. to 11:30 a.m. (2% Hours) Maximum Marks : 135 Marks

(1 Mark for each question)

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-72 are printed in order in the
Question Booklet and ensure that the OMR Answer-Sheet belongs to him/her only. In case of any discrepancy, immediately
inform the invigilator to replace your Question Booklet.

IMPORTANT INSTRUCTIONS

Do not open the Question Booklet before 9:00 a.m. in the Examination Hall.

Read the questions carefully before marking the right answer with blue/black ball point pen only in the
appropriate circle of the OMR Answer-Sheet, as firstly, there is provision of negative marking of 0.25 mark per
Question for wrong answer as well as for selecting more than one option of a question, and secondly no extra
OMR Answer-Sheet will be provided for any mistake or correction.

In case of use of Non-Standard OMR Answer-Sheet, the candidate must properly write his/her Roll No., Question
Booklet Serial No., Question Booklet Code in the space provided in the OMR Answer-Sheet by shading and by
writing in alphabet and numerical on the front page as well as on the back page. Otherwise the OMR
Answer-Sheet will not be evaluated.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the Invigilator on duty after taking
their seats in the Examination Hall, and the other, at the time of handing over their OMR Answer-Sheet to the Invigilator
after the completion of the Examination. Cases where a candidate has not signed while submitting the OMR Answer-
Sheet, he/she shall be treated as absent.

Candidate should clearly write his/her Roll No. in the space provided in the Question Booklet.

The candidate should make sure that the Question Booklet No. and corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, in filling up the Question Booklet
Code, if the candidate gets Question Booklet Code ‘A’, then he/she should fill up ‘A’ in the box provided in the
OMR Answer-Sheet and also shade the circle 'A' in the OMR Answer-Sheet.

Candidate should do all the necessary rough work on the Question Booklet in the space provided. Rough work should not
be done on the OMR Answer-Sheet or on any other paper. If any rough work or overwriting is done or whitener is used on
the OMR Answer-Sheet, the OMR Answer-Sheet will not be assessed.

In case of any discrepancy or confusion in the medium/version of the questions, the English version will be
treated as the authentic version.

No candidate will be allowed to leave the Examination Centre during the examination hours.

Any candidate found using unfair means including carrying restricted items like mobile phone, calculator or any electronic
gadget or objectionable materials etc. which are not allowed in the examination halls/rooms shall be disqualified.

Paper-1 | E 1 P.T.O.
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TS FE 2RPIGU FeA FF K |

egAd foriaat
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OMR T&z+afb o3¢ 1 7ItK SIS SN2 [f*se 208 203 (@ 2Mioitg 1-72 211G 7T sjpiafE @ipiE
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AT e LA 2ATTG T AT (rough) FIS LRITE (RSN BT TS AR | AT 278! (rough) e
OMR TG9[q I O (I LR FI9NCS TS AR a1l | 77 AT @ 497G (rough) 1% OMR TER09
TR AW 6 IR PR, O (12 OMR TR/ eI T 203 A1 |

«  STHR TGS q ACHACE (I LA SO TS 20 24! (QRTE SPIf! 2o TRANEn AFAe a2 eiFe g e
N°f 1 AN

o 2T BARE I (I AT S ® O7ls TR SRS (e Z@ A |

ATTHILIR TR 231/FCF I g AN (@5 GIRIZSA (P, TAFEGS G (I @i Siee At
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M

o TRieTeft T TE 1 I (rough) 1 T-JRaehT H U 7T T W X Hehil | Th 1A OMR SW-ToAeh A1 373
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1.  Which word is the antonym of “Arrival” ?
(A) Conquer (B) Enemy (C) Departure (D) Welcome

2. Fill in the blank :

Yasmin on paying the bill for her whole group.
(A) requested (B) promised (C) suggested (D) insisted
3.  Which single word would mean the same as underlined portion of “The vaccine made the

person resistant to infection from Covid-19 Virus”.

(A) Immune (B) Healthy (C©) Doctor (D) Medicine

4.  What does “hang up the boots” mean ?
(A) Place the boots for cleaning (B) Kill someone by hanging

(C) Retire from active life (D) Peace after a war

5.  Which word in the following list is a Verb ?
(A) Run (B) Black (C) Faster (D) Human

6. Identify the synonym of “Accurate”.
(A) Total (B) Pedigree (C) Sincere (D) Correct

7.  Identify the preposition in :
The man is sleeping on a cot.
(A) on (B) man Q) is (D) the

8.  Choose the correct punctuation mark for the sentence.

“Have you seen my school bag”

(A) B © & (D)

9.  Which is the correct spelling for an annual day-date list ?
(A) Calandar (B) Calendar (C) Callendar (D) Calender

10. Identify the appropriate collective noun for bees.
(A) herd (B) swarm (C) group (D) bunch
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11. Which of the following words is NOT in the Preamble of the Constitution of India ?

(A) Fraternity (B) Dignity (C) Modesty (D) Liberty
11. e @R = SRed MR dBRAGS TR 2

(A) SI9TEK (B) rmi ) Ffw (D) FidTel
11. NI (@ =0 SRS FRRUTER LB (7 2

(A) Frey (B) srmi ) Ffw (D) Fi&Tel
11. A 99 Higen aRat gfefsef e o ?

(A) Aty (B) HF-TTHN (C) TSI (D) S=ifd
11. fafafed § @ F9-91 v 9Ra & d@faam & gwame § 76 22

(A) WE=N (B) T (C) forman (D) T
12.  Which of the following districts of Assam is in the Barak Valley ?

(A) Hailakandi (B) South Salmara-Mankachar

(C) Chirang (D) Morigaon
12. Fxfle @R T @ Toiee ShEe ?

(A) Az (B)  WfRe ®ETsia) - MNFIRS

(C) foai (D) wf¥aife
12. 053 @ @@ P IF TSR SRFS 2

(A) I (B) Wl ST - ARG

(C) o=l (D) et
12. MM o6 S st SwHee ?

(A) BETHRIS (B) @Il HITHRI-HRTSR

(C) fei (D) wfaTE
12. 39y o FrAfafed § @ F-91 foen sk = § €2

(A) TaATRISt (B) Ty FeTHRI-HAh=R
(C) Temim (D) HRITE
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13.  Which of the following is not a criterion for citizenship of India ?

(A) Acquisition of Territory (B) Buying property

(C) Naturalization (D) Descent
13. FRfERe Aeg @0 o A iwimfd w7 2

(A) g efdar (B) rife ww

(C) digfomaae (D) <
13.  SIF (A SRR 5RCe Aeme T 2

(A) T wfda (B) ife @7

(C) FreRFr=e (D) =G
13. R AT | MRt s TH=i{y 7T 2

(A) TAM ARFSHE (B) ©F HWHW(I S

(C)  TRE H (D) TR
13. frefafed § § ®F W YR 1 TGS H RS @ © 2

(A) & 1 S (B) wufa W

(C) UTehfaeRahur (D) @9
14. Which of the following is the Capital City of Chhattisgarh ?

(A) Raipur (B) Ranchi (C) Bhagalpur (D) Dehradun
14. RIS M2F (@ ST e 52T 2

(A) T (B) =Ml (©) b (D) CeTgA
14. 05K (PTG HE 9T AT X2 2

(A) SRR (B) =i (©) SrETE (D) Ol
14. TRHAE BH™ S SRS qsiemaf ?

(A) TEE (B) WA= (©) ST (D) <EET
14. frfafed § @ SH-91 SAWTE S AT T 2

(A) X (B) = (©) SRR (D) <@
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15.

15.

15.

15.

15.

“Gobha Raja” is the titular king of which community ?

(A) Ahom (B) Mishing (C) Khamti (D) Tiwa
“(ael TSI (PN TR Tifd Te 2

(A) SR (B) ffx (C) <rfs (D) fe=
“ealtel FreTl” (e T2MICTS g e 2

(A) =R (B) fIfbR (C) <D (D) fexl
Y s A o BRI Haee aEE st ?

(A) 3mE'H (B) fafd (C) wmfa (D) fean
‘e Ten’! foR THE T ATHERT ST § ?

(A) 3RH (B) faf¥im (C) @it (D) faan

16.

16.

16.

16.

16.

Which instrument is used for measuring atmospheric pressure ?
(A) Hydrometer (B) Altimeter (C) Barometer (D) Thermometer

YNGR bl7l GRACH (FHRA TG IR I T 2

(A) 2RGHER (B) wIf5fiGR Q) &IHoR (D) s fRGR
IRINGEI BIot AR Ty (il T 92T 1 W 2

(A) 2EIRGE (B) wIGfIGE Q) JIRNBGE (D) 2GR
o SAYST IRAVSART TRUTET AT ?

(A) TESHR (B) 3TafefHer (C) sR'fHER (D) oA 'THeR
IHETT T i A & Ty fohd IUshYol st ST fohanl T & 2

(A) TESHX (B) 3TEEIHIX (C) X (D) oMY

17.

17.

17.

17.

17.

Which mountain range passes through Delhi, Haryana, Rajasthan and Gujarat ?
(A) Shivalik range (B) Borail range

(C) Satpura range (D) Aravalli range

(! oo Tz, YRR, AT S YERBI NS 2] (Z 9l 2
(A) Frifers sifeT= (B) 3aiza siFewien

(C) el siFewa (D) SIRRE oRewE]

(@ et Wfe, 2, AEEN W3R ST Wi M otz @

(A) fFRaifers s (B) JRiZe ATl

(C) o5 o= (D) SIRRE! siFoc=at

TR BT el SIS AT feeett, TRamI, Tse™ ST I[SRIaS! aRAlS | ?
(A) Ferenfass g @i (B) =Iged ISl WIR

(C) EEYU BISHI |l (D) AR BTSHT |1l
HA-T g e feeeht, TR, Teree™ iR TR | 2 o € 2

(A) ferenfas geqHTen (B) kel TelaHTCA

(C) HaYe yaaHTet (D) SR JeldHTe
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18.

18.

18.

18.

18.

Who was the first President of the United States of America ?
(A) George Washington (B) Abraham Lincoln
(C) Thomas Jetferson (D) Benjamin Franklin

SR TSN A2 AZATS (F et 2
(A) e G (B) =R foreas
(C) <R CEPIH (D) @GN Few

R TEANTT 22w AT (& fre 2

(A) T ST (B) IR forze
(C) AT (TP (D) @GN FElw
sTafieRt Semgere fifafem serfiTfen 9re ?

(A) S afifed (B)  3rsite™ fetehd
(C) ¥ SHREA (D) SI=TTHA Shehfer

G T STHRHT & JIq Tafd i & 2
(A) SISt efeires (B) etsiteH foieh
(C) ofAY SHEA (D) i Shenfer

19.

19.

19.

19.

19.

Which of the following rulers had ascended the throne at Delhi ?
(A) Chand Bibi (B) Rani Ahilya Bai (C) Rezia Sultana

fRferie @Ml =P e Pirapee i@ Rl 2
(A) wiw &R (B) IT itzew A% (C) (S(Gl peron

e i =7 el FicgTe e SR 2
(A) v R (B) AT eem A (C) e Feroml
TRt =9 FrEAfTRen feeettft TsifdereamE 51 'S ?
(A) =< fefs (B) T eMfeean stz (C) ST Gear

frefafed § @ ®F @ ymwew feeelt S T W ST a1 ?
(A) =g S (B) Tt efgmm=E (C) S geamw

Rani Laxmi Bai

I T A%

1T ST A5

Tfor et 918

T AT 1S
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20. McMahon line separates which two countries ?
(A) Afghanistan and Pakistan (B) Myanmar and Bangladesh
(€) India and China (D) Vietnam and Thailand

20. (AT AICINL (T L (76 92T I 2

(A) iR <= AfegE (B) UM S<: FREACH

(C) e W= 5 (D) ORGAN w=: Ai2ETe
20. SRR AR (@ Y0 (S STl FCECE 2

(A) SR GR] AfEBE (B) SRR G LT

(C) OIS @3 FW (D) foreas @3 aizeme
20. THTRA THART 99 TIETRRE! ar@mEl ?

(A)  SAEMEN ST qfRE (B) TR SR SicAlay

(C) ¥Rd 3T == (D) TR &R AEee
20. THHEA W@ fohA <1 S A SR HIA © 2

(A) TN iR qfere (B) R IR FiTeew

(C) ¥Rd iR =4 (D) oM 3R i

21. Which of the following Muslim commanders did Mula Gabharu fight with ?
(A) Mir Quasim (B) Turbak (€) Itutmish (D) Abeidullah

S N ey

21. WRFERS (e e EHI7ReT [RECF o e J7 IR 2

(A) T (B) W (C) TTesfi (D) TEER
21.  TIo (PIN PRTN ERIARSR 105 e e Ia FEARE 2

(A) Ta<RE (B) wdw (C) ZTTgehm (D) T
21.  HE MH'T A1 MERAM W T JHHH HFIRES el e ?

(A) T e (B) T (C) EeaqH (D) Segeee
21. T M X FreAferfed § & fRg ToemE STt & aeE #@ 2

(A) R HifEm (B) T (C) Fegata (D) Segeat
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22.

22.

22.

22.

22.

Alexander (the Great) was from which ancient kingdom ?
(A) Persia (B) Byzantine (C) Macedonia (D) Ottoman

IERRSSE (FL A6 Jrens S 2

(A) #feat (=) (B) Reifew (C) cfbceifam (D) B
SIS (TZ) I 2B A0SHa foge 2

(A) T (B) dlBrersig Q) Fref (D)  SICBIN
FTARSIRR ( U)3T TIa) Mt o gTefH I+ ?

(A) URET B (B) fosmfen (C) #H=='fm (D) *'THE

faset (wem) forg WA 9T 9 of ?
(A) ®RH (B) dftsifed (C) TSI (D) siemd

23.

23.

23.

23.

23.

Which dynasty ruled the longest in ancient Assam region ?
(A) The Ahoms (B) The Barmans (C) The Koch (D) The Sutiyas

SIS SPT JETFS (I %12 (G Fiet =i et 2

(A) iz (B) < ©) b (D) BomI
(I QG 2SI ST SR 7 EON HATF = FCA(RE 2

(A) iz (B) < ©) b (D) pfem
ol TSTHICRT SATEM STEeTe A gE Aaiay e Wemeid ?

(A) STE'TER (B) FHAHR (C) HIER (D) gfdaThR
Y ST &F § g Tae 3 9oy A 99g I I e ?

(A) o™ (B) A ©) == (D) gfen

24.

24.

24.

24.

24.

Which of the following sea passages connects Asia with Europe ?
(A) Suez Canal (B) English Channel
(C) Panama Canal (D) Strait of Malacca

o 0

RIS (FCEH @Y fF 26EI2[ (0o AR FE 2

(A) praer e (B) T&I& A&

(C) e e (D) SETF 2ieffett
TR (I AYGAL GfR= 8 TR HIE FECR ?

(A) T&e A (B) el Biicwal
(C) = et (D) etz &elle!
TR =761 Tl T TE TR SSae! i 2

(A) U IR (B) sfemr Sam
(C) HHMI SR (D) TR BT-gSie
frefafed § 9 ®F a1 gt 7w S g9 9 Sied €2

(A) &S TR (B) Efierr TeX

(C) GA™ - (D) HcdsRhl STSHEHEY
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25.  Which kingdom did Sati Sadhani belong to ?
(A) Koch Kingdom (B) Ahom Kingdom
(C) Dimasa Kingdom (D) Sutiya Kingdom
25. O] AL (P e PICS A2 Sifest 2
(A) (I JrEy (B) SIlCAN Srey
(C) T ey (D) BEmI arey
25. IS! LN (I ACe forem 2
(A) (I ATEy (B) SlCaN ey
(C) TGl Arey (D) pfew ey
25. @fd | o TS ?
(A) 9 IS (B) 3&'H TSI
(C) e Tt (D) g st
25. &l W forE T @ Heifua off ?
(A) B TA (B) TR TH
(C) femmn == (D) gfaan T
26. What is the introduction to Constitution of India called ?
(A) The Preamble (B) The Preface
(C) The Introduction (D) The First Page
26. SO MR ST S+ & I 1 =W 2
(A) AT (B) st
(C) #ifww (D) =2 7B
26. SRCSH MR GRFIE F @0 & 2
(A) AT (B) =
(€ e (D) =2 el
26. WRAT Gfefoe TE®RARE! A g ?
(A) G AR (B) S®RA
(C) TIRRAE (D) 9y foarg
26. 9RA % WGHM BT JfFehT FI T FeA ¢ ?
(A) HETE (B) uf=™
(©) gt (D) W& 7
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27.  Which country is known as the “Cockpit of Europe” ?

(A) Switzerland (B) Belgium (C) Spain (D) Portugal
27. RIS @R (M “TOEIAT FH5” oo Gl T 2

(A) BIEECES (B)  Cwifer Q) ™ (D) gl
27. IR (@R (il “ROEICHR (5 0 @l 2

(A) RGeS (B)  CRwIfer (C) i (D)  CoTgalle
27. o9 ge@l 53 wepdie’’ B fhferE 2

(A) FeoTers (B) s © ¥ (D) T
27. g <91 Y 1 HiRTS HEl A€ ?

(4) Feeeds (B) dfeser © ¥ (D) A
28. What was the former name of Karbi Anglong district ?

(A) Mikir Hills district (B) Lushai Hills district

(C) Cachar Hills district (D) West Naga Hills district
28. IR WK et o i & @it 2

(A) fifes sifes =i (B) iR Ay fEe

(C) JIRT 7 fee (D) =ifess Tl #AIe et
28. JIR IGR (TR 2F7S! A F feat 2

(A) fife= #ier (ol (B) PR SISy (e

Q) JFIRT 2y (& (D)  =if*5x il #iFey et
28. IS 3Tie et fi g1 w9 ?

(A) TafRT feem foret (B) s feew fSen

(C) R feed fSem (D) 9 AR feew fSe
28. TSl ST STl 1 qd 8 SR o ?

(A)  Tufert e foem (B) TG Uiy v

(C) SR T e (D) uf¥=m AT ureied fSren
29. Ali Aye Ligang is a festival of which community ?

(A) Khamti (B) Mishing (C) Karbi (D) Dimasa
29. SIfeT SIS AN (PN 2R BT 2

(A) S (B) i ©) =R (D) o
29. e S feolle (Pl =M T 2

(A) I IEIES ©) R (D) fewm
29. afifer o fermiiet oot FIR wRE 2

(A) @mEfd (B) Tafd (C) hIfs (D) femmm
29. el U forTi fohe THe™ &1 @eR § 2

(A) it (B) fufwim (C) hrsit (D) fewmEn
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30. Kurseong is a hill station in the state of :

(A) Sikkim (B) Arunachal Pradesh

(C) West Bengal (D) Nagaland
30. o T IEHT G A A2 ¢

(A) ol (B) SI=lbE STl

(C) ~IFosmer (D) «siteTe
30. Ibfa AT 2T i Aicey 2

(A) Bifew (B) Si=Eellbe] 2wl

(C) ~Ifosmer (D) alleTie
30. et TS Bl R |

(A) fafwrn (B) STEUEA Yo¥

(C) IHE T (D) RS
30. I T T & T feod I B

(A) fafsra (B) TEUEA Yo¥

(C) Ul s (D) TS
31. Which community of Assam has “Choklong” system of weddings ?

(A) Bodo (B) Dimasa (C) Mishing (D) Ahom
31. SPTNE (I M 5ok’ @ALliE [l sefore 23 ¢

(A) el (B) foum () M (D) SICR
31. PG (Il MM R “OeR” siafo TR 2

(A) el (B) fewm (€ fafsx (D) Sl
31. STHEE s e =k @St Jfa @ ?

(A) % (B) femmm (€ fafd (D) ¥&™
31. oT9W % forq wqeE # =i’ &t foamg gomett € 2

(A) == (B) feum (C) fuferm (D) 3™
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32. Who was the first Vice Chancellor of Gauhati University ?

(A) Nabin Chandra Bordoloi (B) Gopinath Bordoloi

(C©) Kamalakanta Bhattacharyya (D) Krishnakanta Handique
32. ARG RRmeTRE el AR (PN iR 2

(A) I 5" I (B)  (olloTieIel Iqwiat

(C) T SHIHR (D) T AUCS
32. MR Frefmercm 22w Tonr & e

(A) < 5F /WS (B)  CaNsTIIIel Jwcal

(C) ITARRE SHHIR (D) JFREFIT AT
32. AR gEeiatar fifafem ereTe fifen 9rem ?

(A) R =% R (B) ISl SRt

(C) ¥R W= (D) FWEH B<h
32. TARE favafaare™ & gu Ferfd we 9 ?

(A) Tl =g SIREE (B)  Tirdirer ShREIeAS

(C) FHATRIG g (D) FoERIA Sk
33. Kathakali is a dance form of which State ?

(A) Gujarat (B) West Bengal (C) Kerala (D) Himachal Pradesh
33. FRR (NI ICTI GF O <A 2

(A) @TAED (B) iffower (C) 9 (D) feivet eions
33. IR (9 A TOICHEI 2

(A)  wTEG (B) Moz Q) e (D) fesioet 2o
33. HYHAE ol TFS HHAE ?

(A) TeNE (B) M ST (C) T (D) fedr=ret gt
33. Ui fhd ToF 1 T €Y 72

(A) TSN (B) uf¥=m = (C) (D) fedr=ret gew
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34. Identify the southernmost river amongst the following :

(A) Indus River (B) Godavari River

(C) Brahmaputra River (D) Cauvery River
34. TR Mg #41 WiGRScs nfErTe SRES 7711w e T |

(A) Trpaal (B)  (WRST Wl

(C) F=of@ il (D) SPIIST Tl
34. 0% SERietm W0 (@M TR e e T 2

(A) Trg T (B) (oS! =Tt

(C) =g i (D) JES! Tl
34. AN WITEITALR SR SHE! fam -

(A) oy S (B) TIETE S

(C) SEIgH < (D) e S
34. frefafed § € ga9 gfaroit 7€t s 9g=m |

(A) oy = (B)  TIereRY el

(C) SR e (D) ERT &l
35. Which of the following countries does Assam share international border with ?

(A) Thailand (B) Bhutan (C) China (D) Nepal
35. HERS (@ (R 0 ISP SIELRIg R TS SINge /il O ?

(A) AZCETG (B) GO (C) M (D)  GI7MTe
35. fICR Trale (@R (MO A0 ST SIWEos AR SIAmE 2

(A) Qe (B) GO (C) M (D) 7T
35. 99 SRS STTEM SEISRR faen e ?

(A) oSS (B) ¥ © = (D) o
35. o frefafaa o @ frg <o & Y sTasda ST 9ren i § ?

(a) e (B) (© (D)
36. What is the main component of a glacier ?

(A) Lava (B) Salt water (C) Ice (D) Rain forest
36. RIS 2yl Tofme f 2

(A) el (B) AR T& C) =T (D) el
36. [ 24N THAME F 2

(A) el (B) FREG T& C) = (D) R=
36. SRGGHIM RIS Tfeqamn 1 ?

(A) @ (B) wfE@3 (C) |® (D) 3T@l 3FA
36. feUic A TF RN T ?

(A) e (B) @I Ul (C) % (D) oS =
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37.

37.

37.

37.

37.

Which of the following has the NITI Aayog replaced ?
(A) Competition Commission of India

B) Staff Selection Commission

Union Public Service Commission

Planning Commission

=

FfER® (PG 313w T SIS o w91 (27 2

(A) wies gfswifarel il
(B) OIS 6 St

(C) E@R EFER SN
(D) A==l el

A (O Aife S 2feTism FE0R 2
(A) wiRceR dfecifsre! sl

(B) FOIT o Sttt

Q) U EFER SNe!

(D) (RISl S

RS BT eI STRATRGT NITI ST e ?
(A) KT HiATHE A® i<

(B) W ToeieheM ST

(C) i urfecrer wnfe sfteH

(D) faifa st

Hfq st 7 frfafea § 4 feaew wm fam g2
(A) R gfaeast ST

(B) HHERI =& TN

(C) HH ik Farl A

(D) IS AT
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38. Which kingdom of India had influence extended to Southeast Asian region ?
(A) Chauhan (B) Rajput (©) Gupta (D) Chola
38. RO (PR AFEHT AOR 777 @fexl Szewics [ge 2w 2
(A) &2 (B) <@ € e (D) @I
38. WS- SIBTH SRCSH (I AST 2SR TS 2% 2
(A) TR (B) & ©) < (D) T
38. WRAM 99 YESiEl WE- | T SIREEfas Mem Qe g e <HHA ?
(A4) = (B) ST © T (D) =
38. WA % T WHT S 99E Sf0-g8 TREE &5 a% o1 ?
() e (B) TS © T (D) e
39. How many countries does India share land borders with ?
(A) Six (B) Seven (C) Eight (D) Nine
39. ORI (FRAT (1T T A 75%f (I 2
(4) = (B) e (© =m0 (D)
39. FOMH (M0 AT SIA0ST T A NG ACACE ?
(A) = (B) e (©) = (D) =
39. 9RAl HisH BTl Brerel T e ?
(A) WA (B) #Af& (C) HF <A (D) A7
39. YRA foha <M % A1y Tyl HHT WIS I € 2
(4) =® (B) W © =me (D)
40. The Upper House of the Parliament of India is called :
(A) Lok Sabha (B) Rajya Sabha (C) Vidhan Sabha (D) Vidhan Parishad
40. IAOWME T AT (PR T 2
(A) TS (B) SrEpTel (C) e el (D) e ifvaw
40. SRS AGTHL (P 61 2 ¢
(A) ATl (B) dreTel (C) e el (D) & oifsaw
40. 9RAMT SHef TS g |/ A S 2
(A) «A'H' g (B) TS |l (C) faeam & (D) faum iug
40. U F FIX HSH hl HE AR

(A) Tk gl (B) U™ Gl (C) faum g (D) faum 9ftvg

Paper-1 | E 19

P.T.O.



41. The square of a smaller number is subtracted from the square of a larger number and the result is
equal to the difference of the larger and the smaller number. The sum of the two numbers is :
1
(A) 0 B 5 © 1 (D) 2
41. (I B! FRA TIEICHR 919 2I]1 FRCBR 3979 Wi K9t SR Fetieret A2 1HI9 AT 3w 270 | iR
VOIR (ITFe (20% ¢
1
() 0 ®) 5 © 1 D) 2
41. FH IS TRAF 9 (AF SCEFL FUod A 357 [ F1 27 G TR J2SA G FUed AF
AT AN sieT | R 9 o == 8
1
(A) 0 B 3 © 1 (D) 2
41. 99 T sAfef= swifaw 999 frafaa smfsm avial gme s, o ssar o et ey fm
sTafe wRREfS THE | S 9 S Sreerm
1
(A) 0 B 3 © 1 (D) 2
41. TH=i < el 4 @ S8 e & av 99 We & ot ¥ SeE S § SR uRon SHi Sensd & AR &
TR BT S | ST st hl AT -
1
(A) 0 B 3 © 1 (D) 2
42. The LCM and HCF of two numbers are 24 and 4 respectively. If one of the numbers is 12, then the
other number is :
(A) 20 (B) 8 ) 10 (D) 6
42. M5! FRAT NG AR P11 TAGCN 24 TiF 4, FRANGIF G5! I 12 T (SCT 6! 7R T ¢
(A) 20 (B) 8 ) 10 (D) 6
42, 95 AR FALG. IR ALY, IAFCE 24 3R 4. G0 AL 12 20 S ARG ¢
(A) 20 (B) 8 (C) 10 (D) 6
42. HFA STATHIRRM G791 TR <. 3791 A1 WY 24 TR 4 | e STARTHT HALGAT 12, T STATHRT -
(A) 20 (B) 8 (C) 10 (D) 6
42. < GEmsl w1 AAH FHME SR IETH FHVETE A 24 314 ¥ 1 A T G 12 %, @ Ed den

T
(A) 20 (B) 8 (C) 10 (D) 6
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43.

43.

43.

43.

43.

A garden has p numbers of trees. Every tree has q number of branches, every branch has r number
of sub-branches and every sub-branch has s number of leaves. The total number of leaves in the
garden is :

(A) p+q+r+s (B) pq-+trs (C) pqr+s (D) pqrs

(Il 9= AR p (il o7 Bzl Aforeion 7o q A =i, LRS! MO 1 FRUF THAI Sl
ATSTH! TANAIS s ARAF 2T A SR | AfoTGLTS 2l TS 21T AR (202 ¢

(A) p+q+r+s (B) pq-+trs (C) pqr+s (D) pqrs

GG AN p AU AR TR &ATSlG MR q FRUE *l TCCE, ARSTT * 1A 1 ALAE Sl ICACT =%
ARSTs ToMILIR s AU 2IT®] TR AN (B ATSR AL 24 ¢

(A) ptqtr+s (B) pq-+trs (C) pgr+s (D) pqrs

q Y foreanfiame o p <% 3 1 AhIHel SHIETd HIF q S8 S, STels HITshHe 376 JiH r el e € &/
TR <SS -THamEE s foaas <1 o feementam med faems < 2

(A) p+q+r+s (B) pq-+trs (C) pqr+s (D) pqrs

T o H U &l HE&A p § | Tk U H IS sl €& g Bl ©, Yok I H SURIEnsl oht S r gl
T IR g SuemEn # uftel s He s At ¥ | i # ufhdi v e wen ©
(A) p+q+r+s (B) pq-+trs (C) pqr+s (D) pqrs

44.

44.

44.

44.

44.

Addition of two Roman numbers XIV + 1V equals :
(A) XXV (B) XVIII (C) XIX (D) XX

VoI (A FRATE CI9FeT XIV + IV (20 ¢

(A) XXV (B) XVIII (C) XIX (D) XX

ql QI AP XIV + 1V @& (19T 2
(A) XXV (B) XVIII (C) XIX (D) XX

T T SRS XIV + IV @ STSiTsitsell | /A 2

(A) XXV (B) XVIII (C) XIX (D) XX
2 U Gl 1 A XIV+IVE :
(A) XXV (B) XVIII (C) XIX (D) XX
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45. (—1)°+(—1)° equals :
(A) 1 (B) -1 < o (D) -11

45. (—1)°+(—1)° 3 I (27 3

(A) 1 B) -1 ) 0 (D) -11
45. (—1)°+(—1)° &< 73 ¢

(A) 1 B) -1 @ 0 (D) -11
45. (—1)°+(—1)° 7 #F fegT -

(A) 1 B) -1 ) o0 (D) -11
45. (=1)°+(—1)°0 H1 TUH T :

(A) 1 B) -1 Q) 0 (D) -11

46. The diagonal of a square is 10 cm. The area of the square is :

(A) 100 cm? (B) 50 cm? (C) 64 cm? (D) 48 cm?
46. @51 391 F°q (12 10 (5.1, | (IR CFawet (207 ¢

(A) 100 5.2 (B) 50 (5.2 (C) 64 .[N.2 (D) 48 (5.2
46. «30 I5CHCET 39010 ELRL | 9fCwaite Fifer =1 ¢

(A) 100 L2 (B) 50 @12 (C) 64 @12 (D) 48 @12
46. TIY A @1 @R 10 9.4, | 9 SR Hifemn -

(A) 100 9.f1.2 (B) 50 &.fa2 (C) 6492 (D) 48 ©.fa2
46. T ot 1 faepot 10 It T 1 ot A SR ©

(A) 100 G2 (B) 50 |2 (C) 64 THR2 (D) 48 |HR2
47. Two numbers are in the ratio 3 : 4 and their sum equals 49. The two numbers are :

(A) 16, 33 (B) 18,31 (C) 21,28 (D) 24,25
47. (I 951 TR 3 : 4 SFoTe® AR W< PR @9IFe] (20249 | 7201 751 T4 8

(A) 16,33 (B) 18,31 (C) 21,28 (D) 24,25
47. 96 AR 3 : 4 SEHAICS ON(R G OIM (191eT 261 49, H2| 7 28 ¢

(A) 16,33 (B) 18,31 (C) 21,28 (D) 24,25
47. WA STARTHI EAT 3 : 4 AR foERM STSTERMEAT 49 | SHNSHI Wi SE -

(A) 16,33 (B) 18,31 (C) 21,28 (D) 24,25

47. VTN 3:4%F SUEH € IR SR AM 49T I Y T €
(A) 16, 33 (B) 18, 31 (C) 21, 28 (D) 24,25
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48.

48.

48.

48.

48.

The total interest accrued on a Principal of I 1000 over 1 year at compound interest of 10% per
annum compounded 6 monthly, is :

(A) % 105.20 (B) 10220 (C) 10250 (D) ¥ 105.50

2If 6 23 S @G 7S 2517 FCE %R 10% 5@ 7O TR T 1000 4= 1 I 9@ &l (2l 39
7o Sifaslel (2% ¢
(A) T 105.20 (B) T 102.20 (C) T 10250 (D) ¥ 105.50

1 IER N EA T 1000 97 TR ARE 10% bFgian DA @S 6 T bt A2 Jod Al
= ¢
(A) < 105.20 (B) 10220 (C) 10250 (D) < 105.50

% 1000 T |rE SRR 10% 8R 1 SR aREs™ g8 fogd, e aresm geat 6 SR ar -
(A) T 105.20 (B) ¥ 102.20 (C) ¥ 10250 (D) % 105.50

THA 1000 W 138 H 10% Ffd o6 o =hdis AN W 6 Al =shdls AN Sied W A $a &
g
(A) ¥ 105.20 (B) ¥ 102.20 (C) % 102.50 (D) % 105.50

49.

49.

49.

49.

49.

The sum of the present age of the father and the son is 60 years. After 15 years, the father’s age
will be twice that of the son. The present age of the son is :

(A) 10 years (B) 25 years (C) 18 years (D) 15 years

o1 W% 2/9 TG T (T 60 T | 15 T 21%0 {79 q91 7[@q T2019 7@l 29| 9j@F IO I
[

(A) 103 (B) 253 (C) 183= (D) 153

211 @ #[(qa TG IACTR (91T 60 T | 15 T 17 01 T2 2[00 IR e 2@ | #[0qd I9 I35
% ¢

(A) 103 (B) 253 (C) 183 (D) 153

sTferaETere foaw AR fREsa SEif SSerEET 60 SER |1 15 SERM AT fowhi swen frasent

T ST | STITRRATETS fRareents Srarst s ?
(A) 10 9ER (B) 25 ¥R (C) 18 9ER (D) 15 9ER

T TR 51 1 SR ST 1 AN 60 9 § | 15 9% SG e it 2T I3 i 377 W SR SFft | I3 i a9
341"’5[,%:
(A) 10 = (B) 257ad (C) 18 =M (D) 15 =W
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50. Let all the months of a year is of 28 days. If January 1 falls on a Monday, then April 28 will fall
on a:
(A) Friday (B) Sunday (©) Monday (D) Saturday
50. ¥ AR T (@ OB 7] AN W2 28 e g& =1 T 1 SERSIE MG Gk 27, (o0 28 «ftie
WeCol 29 ¢
(A) ST (B) IRmlw (C) CIPRIR (D) ==
50. 4 IREF AR A 28 e | M 1 SRR GIRIK 27 O 28 G 73 ¢
(A) ST (B) s (C) @IEE (D) ===
50. THAM W1 S SR MEET SHE 28 WHA’ 4@l 9iE 1 SIaREfe SeeR Tt ofse, 28 TerEnta @
S ?
(A) YRR (B) @R (C) HHIR (D) ¥R
50. o U o6 & @edt wfed 28 feA i & B ¥ 1 Afg 1 S Rl AR IS €, O 28 ST @ IS
(A) YERAR (B) Ieem (C) AR (D) wfeR
51. The sum of the odd numbers 1, 3, 5, . . . . . upto 15 terms is :
(A) 225 (B) 125 (C) 169 (D) 196
51. SRATMRAN1,3,5,.....315 5 “WaA I Q9T (L 8
(A) 225 (B) 125 (C) 169 (D) 196
51. SRPIRANT,3,5,..... 15 5 #I =17 (ist Fa0ET (et 203 8
(A) 225 (B) 125 (C) 169 (D) 196
51. o9 3WRNE 1, 3, 5, . . . 15 fog@ faufy Sremermdan -
(A) 225 (B) 125 (C) 169 (D) 196
51. 1,3,5,..... stfe foom densi &1 15 9 qo 1 9 ¥ -
(A) 225 (B) 125 (C) 169 (D) 196
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52, (x2-3x—4)+(x+1)="? (x#-1)
(A) x—4 (B) x-3 Q) x-2 (D) x-1
52, (x2-3x—4)+(x+1)="? (x#-1)
(A) x—4 (B) x-3 Q) x-2 (D) x-1
52, (x2-3x—4)+(x+1)="? (x#-1)
(A) x—4 (B) x-3 Q) x-2 (D) x-1
52, (x2-3x—4)+(x+1)="? (x#-1)
(A) x—4 (B) x-3 Q) x-2 (D) x-1
52. (x2-3x—4)+(x+1)=? (x#—1)
(A) x—4 (B) x-3 Q) x-2 (D) x-1
53. If mis a digit and the number 46 m 23 is divisible by 9, then the digit m is equal to :
(A) 1 (B) 0 () 5 (D) 3
53. M m AT GBI BI<F 2 ©1% 46 m 23 FRAICG! 9 (3 [OIey 2, (90T m S 330 & ¢
(A) 1 (B) 0 © 5 (D) 3
53. WM m T&foF G0 T W G 46 m 23 AT 9 7R Koiey 23, OIzte m SR (G 70 2
(A) 1 (B) 0 © 5 (D) 3
53. S m 3T WY FHRSH 3R 46 m 23 SHSHET 9 i T, 76l o SHSHET S6 -
(A) 1 (B) 0 © 5 (D) 3
53. AfC m T YN 1 Tk 37 § 3R T 46 m 23,9 ¥ fausa &, @ 3feh m IR 7 :

(A) 1 (B) 0 ©) 5 (D) 3
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54.

54.

54.

54.

54.

If the Minute hand of a clock traverses an angle of 180°, the angle traversed by the Hour hand
during the time is :

(A) 20° (B) 5° (C) 10° (D) 15°

3 961 GBIF [WRGI F61 Tt 180° (@19 TfeTw F(F, (ST GTF ANAS TOIF FI6! TIte] o™ 91 (el
[

(A) 20° (B) 5° () 10° (D) 15°

I GTo qfex WHEEa FI61 180° (Fiel SfeT F(F, ©F G2 AN N IO FoF 7 Sfoaw F1 (&Flolfo
PG

(A) 20° (B) 5° (C) 10° (D) 15°

Tl faf1e straf-er Sf 180° & 'H1 SATER, ==l -2/ o FHE a9ai @ A1 STEREHA ?
(A) 20° (B) 5° Q) 10° (D) 15°

Ife forelt wSt &1 fie T GE 180° 1 FIV Fewd! &, A1 SH SR HS Tl g GRI 141 T 10T |
(A) 20° (B) 5° (C) 10° (D) 15°

55.

55.

55.

55.

55.

40% of 60 when added to 60% of 40 would result in :
(A) 40 (B) 48 (©) 60 (D) 64

609 40% I CACO 40 T 60% (5! FRCeT FoNTe] 21 ¢
(A) 40 (B) 48 (C) 60 (D) 64

60 G 40% & AN 40 = 60% (I} ST FoITe Z( ¢
(A) 40 (B) 48 (C) 60 (D) 64

60 T7 40% @t 40 17 60% ST TrTeIse ST :
(A) 40 (B) 48 (C) 60 (D) 64

60 H | 40% 1 40 H T 60% H e TR IRomT 9 20T
(A) 40 (B) 48 (C) 60 (D) 64
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56. The sum of any two integers is :
(A) always a non-zero positive integer.
(B) always a non-zero negative integer.
(C) always either a non-zero positive or a non-zero negative integer.
(

D) always either a non-zero positive, a non-zero negative integer or 0.

56. RICIIC YBI SIe AT (91T ¢
(A) SR G5 SR GeTIeRP SR HLT| 29 |
(B) MM GBI SH T S FL| 2T |
(C) M O TH) LAISIF SN IF AT T HLY| 29 |
(D) W G S GISIF, G O[] HNLF S IR | 0 27|

56. (3 (I i APRE (QI5ieet ¢
(A) 7 9O ST LIS AT |
(B) W @D SI-* elSIF 2Jefo12 |
(C) %l 27 4T S LR ISF Al S AT 7|27 |
(D) %I 27 4B S LIS, G S-S oJel72t A *[+7 |

56. STANGSTT A T’ STRSHIN STSTeRTRRT :
(A) SicTEs ARG T8 ESTE T ST |
(B) SiecTTEsll SRE’ 7€ SMH@ o1 T SIS |
(C) SiccTEal ARG’ 7E HTE TSTeal AlfoRg’ 78 @ o T’ ST |
(D) SiecTEal ARG’ 7S TASTa TSTel Ao’ 78 M@ o1 W' SHfSH TR TSTeel e’ |

56. foregl <1 quifenl o1 3T
(A) THIM Tk TR-I SHTHS UMk Bl S|
(B) T U TR-I[ ThRIcHS JuUlieh Bl & |
(C) THIM A1 M T TR-T[ TS AT Teh TR-I[ THRIHS UTeh el & |
(D) HIM A1 @ T R-F[ ¥, Th TR-IFT THRIH qUlish, AT 0 Bl B |

Paper-1 | E 27 P.T.O.



57. The remainder when 2° is divided by 5 is :

(A) 0 (B) 6 < 2 (D) 4
57. 2035 (F 27 IR AIY S9IHT 27 ¢

(A) 0 (B) 6 < 2 (D) 4
57. 20 (35 @[l Sl T TS AMCF ¢

(A) 0 (B) 6 C) 2 (D) 4
57. 26 5 i TATSAT STATHE TRASET ey

(A) 0 (B) 6 < 2 (D) 4
57. <& 260 &1 59 faufad fran g 9 Ivha AT @

(A) 0 (B) 6 € 2 (D) 4
58. The value of /1849 is:

(A) 33 (B) 43 (C) 53 (D) 63
58. /1849 I W (&2 2

(A) 33 (B) 43 (C) 53 (D) 63
58. /1849 < 5 % ¢

(A) 33 (B) 43 (C) 53 (D) 63
58. /1849 T #M -

(A) 33 (B) 43 (C) 53 (D) 63
58. /1849 HI UM T:

(A) 33 (B) 43 (C) 53 (D) 63
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2m % 20 x 274 _ 512

59. Find m if
2—5

(A) 5 B) 3 < 8 (D) 7

59. = 2 % 265X 2 12 (orm m 9 i R
=

(A) 5 (B 3 < 8 (D) 7
59. m fefe 3 i 2 X22_65X 2% e

(A) 5 (B) 3 <€) 8 (D) 7

6 -4
59. m@ﬁ@‘_ﬂfd 2M % 2° x 2 :212
o

(A) 5 (B) 3 © 8 (D) 7
59. aifz 2o X22_65X 2 012 B m A Ff
(A) 5 (B) 3 © 8 (D) 7

60. The fractional form of the recurring number 5.121212 .. .1is:

N 57 5 57 o 57 507
(4) 90 (B) 99 © 90 99

60. (oTesfa R4 5121212 . . . T Sl TG (2R 3

A 507 B o17 C 517 D 507
60. SIS A2 5121212 . . . OF AR A ¢

A 507 B 517 C 517 D 507

(A 5o (B) 59 ©) 5 D) 59
60. SEARE 3FSE 5.121212 . . . 1 SiEeE=<) #1840 -

A 507 B o17 C 517 D 507
60. STl §E&AT 5121212 . . . &1 T=IcTeh 9 © :

A 507 B o17 C 517 D 507

(A 59 (B) 59 ©) 5 D) 59
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61. Sunlight helps in producing which Vitamin in a human body ?

(A) Vitamin C (B) Vitamin B (C) Vitamin D (D) Vitamin A
61. IS (AR AT *© (@R [SHIRR Terivre 7gE FF 7

(A) feBifE C (B) febIfE B (C) feBifim D (D) Bt A
61. I S AR (P [SHIfA ToT1 Fa0e AL I 2

(A) TeBifm C (B) TeGItE B (C) TBifm D (D) TBItE A
61. WHMAM <gmEE THge dd fierfial Irfs ?

(A) fqaf C (B) T9aify B (C) Ty D (D) f9arfT A
61. T 1 Y AHE IR H ford faerfim o Iaaed # #eg i € 2

(A) faarf C (B) foaerf@ = B (C) faarf = D (D) foaarf = A
62. The first modern Olympic Games was held in :

(A) Athens (B) Paris (C) London (D) Berlin
62. A ST SAE (2o S SRyfre (2R 2

(A) @2 (B) (iR (C) & (D) aifefq
62. 2N SYTF AT ol TFe 27 2

(A) @ (B) =ife™ (C) @ew (D) aIfetq
62. sTferamaf fifafam s 'faftaes s S-S ?

(A) TIH (B) ufw (C) «ved (D) dfeiA
62. T MYFH SAcfaw Tt el e fohd T & 2

(A) g (B) URH (C) @A (D) wifelq
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63.

63.

63.

63.

63.

Which of the following statements is incorrect ?
(A) Thomas Alva Edison was deaf.

(B) Apple is related to discovery of gravity.
(C

(D

) The brightest planet as seen from earth is Venus.
) The chemical symbol for sodium is Sd.

fTxfe (@0 Sfe srug 2

(A) < SeTel «fne AfT =Nifest |

(B) il TR SIREIRT CICO ST TS Az |
Q) SfAT= 7[ WG F Teget AZ06! OF |

(D) =fEaE IS HECe! tareSd |

Tieoa (i Kol =t 2

(A) T SeTel G iR R |

(B) PR SHpefel SfRERICa™ Al T |
(C) & S| (AF W2l FRGR Teged 22|
(D) AT AT 2SF 281 Sd |

TS BT ol forgjferan o T ?

(A)  UHI STIHT TeE T SHH |

(B)  SRTTSMI W1 HiHTaTe SToet fRemret | € |
(C) Yo U9 IEAMHE TeteME safgs Siad U8 |
(D) wfeamfy vemEfTe fefuferm sd |
frefafed § 9 FH-91 w99 TAq § 2

(A) ofFY 3Tea Tfedd a5l 9 |

(B) U 1 HeY THRUT i @S H T |

(C) el ¥ <T@ M aTe For FHehiel U8 Y ¢ |

(D) wifeam w1 TEm@fE Uedish Sd R |
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64. Which country was involved with India in the Doklam incident of 2017 ?
(A) China (B) Afghanistan (C) Bangladesh (D) Myanmar
64. 2017 59 ©FHN FYT SO (0O (I (] TT© s 2
(A) BN (B) walifemie (C) IETITH=l (D) TR
64. 2017 AE (ST ToIT SRCOI AT (@ (%] Tow (=& 2
(A) (B) SwaNfE®E (C) 3= (D) SRR
64. 2017 HIAATEH SHATH SRS F9 FIEY HRAS TLSTTRISTGIHMA ?
(A) =M (B) SR (C) dicew (D) HMHR
64. 2017 H Srhcl™ Bl § YRA o WY HIF | <9 AHA o1 2
(A) =H (B)  SA®MITEIA (C) <Ry (D) ™HR
65. Which of the following places of interest has been recently included in UNESCO World Heritage
Site List ?
(A) Charaideo Moidams (B) Batadrava Than
(C) Poa Mecca (D) Sonai Rupai Wildlife Sanctuary
65. RHEIRS (FHG! TN ZAE HITORIT SRR e @foyy oraa viffe soee 341 (2072
(A) BIIEMS G (B) 30wl A
Q) colll = (D)  CAIelE oAlZ I0lIT SreA=e]
65. fT=feie sieddn gmafer ww @ Tefs TeEmeE [ afszaidl BIee Siffer Seve 2 2
(A) DRIRCTS TR (B) Al A
(C) (o S (D)  (TIZ AR IlTT Sree]
65. U M diaidrs, MR Rl FRgak sTRie (UNESCO) JgH1 GRI ST FRIRaTgeTd e
TR I ST A e 2
(A) =T HIM (B) FET UM
(C) 9'dl HeRhl (D) §'\TE ®urE AR 5 gwm
65. frefafed § & forg Rt Toret =l B1et € | AR (UNESCO) forear forrerd Toret 3= | snfher foran

7?2
(A) T3S HigSH (B) SeEal oM
(C) Wi HeRAT (D) T T S=Ise S9N
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66. Near which town is the Da Parbatia gate located ?

(A) Tinsukia (B) Tezpur (C) Silchar (D) Barpeta
66. (LT HZIT TG W 2SI (O TRFS 2

(A) fefpm (B) (&[T (C) e (D) Sl
66. W RO AN (T *2(TF FI(2 SAFS ?

(A) Ty (B) (&7 (C) e (D) IR
66. ' e TG AT & TR Wi g 2

(A) faTgfean (B) TSR (C) Tae=R (D) =T
66. T’ afaa e fRE et % I feed 82

(A) faTgfean (B) TSR (C) Tae=R (D) =
67. The highest gallantry award of Indian military during war is :

(A) Maha Vir Chakra (B) Param Vir Chakra

(C) At Vishisht Seva Medal (D) Ashoka Chakra
67. T@I IS ST AR a9 A JI9g J01 (202 ¢

(A) T IEOF (B) RN IoF

(C) wfs RS @Rl 7w (D) SIC¥F 5
67. IEFIEH AN SRS ANRE AT 7 A TG 77FE 28 2

(A) =T b (B) RN F

(C) wife R#® Rl GIeee (D) I &
67. STERI-HHTE YRATR FHATIRHSIAT R S fre A s

(A) wEIfeR =Ish (B) WA for =k

(C) afq fafire |an A (D) Ak =k
67. & % SN ARATT 1 h Tait= SRl IR T :

(A) HEER =5k (B) TR =k

(C) fq fafre Fen v (D) 3 =k
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68. Which of the following airlines does not exist anymore ?

(A) Spicejet (B) Indigo (C) East West (D) Vistara
68. fwfele IR [N g wiey TEH e wiE 2

(A) “AIZBCEE (B) ey C) T =B (D) fewml
68. TICHR (IR R FZR O (I oG (7E 2

(A) “AIZH (o5 (B) Zfetan (C) =T €D (D) o= I
68. TR o foRd wIeTif Bl STfergrend et ?

(A) TEH S (B) sf=’ (C) & o (D) faEm
68. Tr=fafad # @ HH-9 TR 1« Al § &1 2

(A) TAEHSIE (B) Efemm (C) TR (D) ferwam
69. The national flag of which country features a dragon ?

(A) Bhutan (B) Singapore (C) Japan (D) Myanmar
69. (NI (T TSI AT (Gl B IR ?

(A) PON (B) = (©C) @i (D) S
69. (T (MCAK QIO AP Glol(el &< IR 2

(A) oM (B) Prrem (© il (D) SRS
69. ¥d T RfthatamE 7 € 2

(A) ™ (B) famgR (©) S (D) TR
69. 9T W & UL was W TH 3Hfeha 2

(A) e (B) famg (©) S (D) *AR
70. What is situated at the confluence of three streams Sandhya, Lalita and Kanta ?

(A) Vasistha Ashram, near Guwahati

(B) Ajan Pir Dargah, near Sibsagar

(C) Malinithan temple, near Silapathar

(D) Garampani hot water spring, near Golaghat
70. A, ATl W FIF AN [0 THLRAT FRIATHAS (FC0] SAZS ?

(A) SR AT I ST

(B) Fimriale FAI5{ Serle AT el

(C) ToetiviaEs TT7F Wfeiee sfng

(D)  ColleT=IGS FT17I ofar={ieT] T2 e T
70. A, STl IV G2 [ T 2RI TR SR_ES ¢

(A) R FF6a! I s

(B) fRmTisicaa F6as ! wiiens 1| el

(C) MeteolieiEs Fasast sfemige sfr
(D)  (ANSAAIET oS il T elwael
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70.

70.

T, AfAdT ST ShI=T SHI AR SRS MR oo 41 < ?
A) ERIE Mg, TARR] HrEneEme

B) 3TSM YR TUME, fHeMrR wrafe=me

C) wifafem |y, fHersieaR SR

D) TRAUM TG 3 S, TeEe S

(
(
(
(

e, Aferar SR shian T STAurRIStl & T ) g § 2
A) afTS e7gm, TARET & 9™

B) 35T YR SUME, ™R & 9|

C) wiferta sy, femem & a@

(
(
(
(D) TRHUT TH G % FS, AT & 9"

71.

71.

71.

71.

71.

Who conferred the title of Kalaguru to Bishnu Prasad Rabha ?
(A) Rabindranath Tagore (B) Bishnuram Medhi
(C) Subhas Chandra Bose (D) Sarvapalli Radhakrishnan

eeriv eI Fered Tolfd (@I v Fffee 2

(A) TG P (B) fRmgam Gfe
(C) TR vE ] (D) AT e
f2e 2w AreicE Femes Talfd (& frcafecem ¢

(A) =TI SR (B) g aify
(C) T vH (D) I e

“rarre’’ fog @i faw] yEE quEn 9R S ?

(A) o= T g (B) ooz afy
(C) | =5 a9 (D) Heucall THTHSE
ToTs0] TG T T hAT]E i 3Ty fohe < 2

(A) =AY TR (B) ooy Heft
(C) v =g 9" (D) Helucell THHH
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72.

72.

72.

72.

72.

As on 1%t of January, 2024, who holds the portfolio for External Affairs in Narendra Modi's Council
of Ministers ?

(A) Dr. Subrahmanyam Jaishankar
(B) Smt. Nirmala Sitharaman
(C

(D

) Smt. Smriti Zubin Irani
) Shri Kiren Rijiju

2024 59 1 & SRS ANCATE " (IS W@ sifawe ([lE 2IREwR 7ed 9 779 TS AR ?
(A)  To LT SIHES

(B) @rrS! fsfa ol

(C) &St gfe g 2t

(D) & fe fferg

2024 €3 1 &1 SRR ACATE TE@H (NG TG AR @t R waE@ witeg & foew 2

2024 HITEM 1 AR WITAraH "% A W= SRS S1ersi ST g o §Ri g ?

A) T YIEUIH SR

(
(B) iwcit foefen Hiarmm
(
(

1 SHed, 2024 1 g At i1 HqEaiue & fogw 4o &1 39R fads T 82

A) Sl YoIEIIH SRR
B) #iwdl fen Hare
C)  drmdt Ffa fert Earft

(
(
(
(D) #t fopea fifsrg
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73. Ason 15t of January, 2022, which of the following is NOT a (administrative) Division of Assam ?
(A) Lower Assam (B) Barak Valley
(C) Hills and Central Assam (D) West Assam
73. 2022399 1 &1 SRR ACACE WRGEIRS (@G S (28 ARF) Awes T 1 2
(A) I ST (B) 3 Golerr
(C) e @ &y o (D)  if*5a SPT
73. WIA (D 2022 €F 11 SFR! ACATE SRR (2HTE) FRNSe T 2
(A) % =P (B) IR GG
(C) e @ &y ol (D) %53 SPT
73. 2022 AEAEM 1 SHARI WIfAHHRR TR do@1 STHm (GUsam) SRl 9T ¢
(A) TRE TEH (B) =% TIH
(C) TSI TR ISR STTEH (D) W& AEH
73. 1 SHad, 2022 1 fr=fafEd § @ w91 76\ 1 (WRTEe) TN T8 § 2
(A) Tr=e e1aq (B) & ®El
(C) waIfear 3R wexr oy (D) ufvem stEm
74. In which field did Bhogeshwar Baruah excel ?
(A) Athletics (B) Swimming (C) Badminton (D) Football
74. (SIME IIANZ (NG CFTS SAWiol e SR 2
(A)  GLCEDH (B) wAftoR Q) @G (D) FHIE
74. (OISR I (I O AR 2
(A)  SHIRCETH (B) dfelm (C) TIeRT (D) oI
74. IR JoAMH] a@ r®|LI’)|"||°| SET-RIEMEMA ?
(A) T (B) HHIEHAM (C) wefiwa (D) dsd
74. AR % 7 TRy &3 H Ipt< yewH foharn ?

(A) Tifed (B) Rt (C) wefied (D) Teaid
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75. What is the name of the statue placed near Sardar Sarovar Dam in Gujarat ?

(A) Statue of Liberty (B) Shakti Vajra

(C) Statue of Unity (D) Shanti Stambh
75. WTAIGI G AR AH 191 ol 41 2fSafEcha i & 2

(&) CBpy o foraf B) *fe3m

(C) (B OF TTMD (D) =fETs
75. QSRS MR @A A Ficg e ez T St 2

(A) B o1 foraifs (B) *f&¢3gm

(C) oIy oI TUMH(G (D) =% wE
75. TORIAH SRR TR 'R <1 W@ S SE™ gt g1 11 2

(A) = A% e (B) wiferl vt

(C) ¥ 1% fed (D) = Ty
75. TORIA B TSR TSR oY & I Tefad gfadn 1 o= W § 2

(A) W 3w faadt (B) wIf® ol

(C) =g ATE el (D) wifd &Y
76. Which of the following is a non-renewable source of energy ?

(A) Wind power (B) Hydropower (C) Solar energy (D) Fossil fuel
76. (RGNS AI2T (P! 6T SR T 2

(A) ag=fe (B) Teife C) viwifE (D) SR ZH
76. TR (D SRR *few T 2

(A) A =fe (B) wwikmpexfe  (C) CMa=fe (D) G gl
76. TR So &1 YK HIGHSIE HEl ?

(A) @R - arel (B) < - @@l (C) ERiwfer (D) Sters S
76. frefafad § 9 HH-T1 S ol R-TFewLoNa &id § ?

(A)  Fo FHe (B) < forgd (C) IR (D) Sirered g84
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77. Which of the following is highest, among ranks of the Indian Army ?

(A) Brigadier (B) Lieutenant General

(C©) Major General (D) Lieutenant Colonel
77. ORSR (WR AWMIPHES foege FRffs ! 7w oM 2

(A)  faeafeas (B) (TG (GG

Q) CToR (ST (D) (STRCBET el
77. TR (A ©IRSR Wi sl e 7 2

(A) feaifeam (B) CTFGT (SHIEE

Q) &R (SRR (D) ETFCHIG el
77. TR Se] HRAT T gt Siree o ?

(4)  forfem (B) WA SAYel

(C) TSR S (D) WHAT= Hdd
77. Trfafea § & @ aRdE S % Yl § et €2

(4) forifem (B) e s

(C) HS S (D) wfHe Hid
78. In which Continent is the Amazonian Rain Forest found ?

(A) Europe (B) North America (C) Africa (D) South America
78. SINGER LR (P TS SRFS ?

(A) TT@EA (B) TwwiERA  (C) wifHw (D) Wi S
78. SIIIGH IR (e QWK SRZS 2

(A) TT@E (B) TeWmRA (C) Wi (D) Wi SR
78.  STHISH 1@ 3 T 96 BIRIATE ?

(A) T (B) W - smAfem  (C) 3Tftheh (D) W - AR
78. TS % oo o7 e T H € 2

(A) I (B) UG HR@R  (C) ST (D) =feror SRR
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79. Which sport is the Davis Cup played for ?
(A) Badminton (B) Table Tennis (C) Lawn Tennis (D) Cricket
79. (CfeRF7 (FHRY (T A (&1 & 2
(A)  (@CRIB (B)  (5Ja1 (e (C) = (BF= (D) f&s
79. (P GIORI (T Fl7f (251 &7 2
(A) TreRT (B) &R& (G (C) =W & (D) feco
79. <ol @l 96 TREAEREA A T 2
(A) wefgea (B) daa <9 (C) =+ = (D) fhehe
79. <fod ®u forg @a & foaw @en s 7 2
(A) St (B) <od o9 (C) o f (D) fohehe
80. August Kranti with “Karenge Ya Marenge” slogan was related to which movement for India’s
independence ?
(A) Non Cooperation Movement (B)  Quit India Movement
(C) Khilafat Movement (D) The 1857 Sepoy Mutiney
80. ‘TR T @A CNANTIR WIS FifE SITeq FITTOR Z(F T (IO KT (00 TS ?
(A)  SPRAE SCWIE (B) ©IS el SCWIET
(C) TReTwe SNCwieH (D) 1857 517 oIS fRcmiz
80. SIIPT Wl “TCACH BN WA CHINAD SRCSH FIFTOR (I SR A T~/F e 2
(A)  SPIRCE AT (B) ©OIK® R(TI ACHIETH
(C) ReTrre ST (D) 1857 @7 Fi7ig} facmz
80. ‘'HIEH FETeeN A" T AT STATE T a6 SHEHARS) Sl § 2
(A)  TESTSRITY HHEHRA™ (B) ¥RA ANTRAT HIHEHRATA
(C) facmwd FHEEAE (D) 1857 A U foumram
80. ‘=T ;M HE'' AN K WY S Shifd WA i W=l & fow ford stidioT | weifya off ?
(A) STEEIN R (B) ¥Rd Bl g
(C) faamra stide (D) 1857 @1 faurdt fade
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81. Harihara also known as Hakka, and his brother Bukka Raya, founded which kingdom ?
(A) Chalukya Empire (B) Vijayanagara Empire
(C) Chola Empire (D) Hoysale Empire
81. = ACIRS R 2T wiF (997 Oy IF AT (T A=Iey 2few! FRfw?
(A) B ey (B) Reme Awiey
(C)  (BIe A=IST (D) T AlSrEn
81. =m R z@t Mt ~ifafoe w3k O ©iE 3@ T (@i A’ el FEikEw 2
(A) BRT AlSISy (B) Rermsm Meiey
(C) BFF Ay (D) 2T Ay
81. TR, T Tt SMa fafersa, st faf whem Jaemt T, =6 TESE! MAEeH ?
(A) =R ARSI (B) TSI R A =S
(C) = HHIFS (D) ST HHTFS
81. TR, 9 TRl & M & ft 1 S T, 3R IHeh W Rl T A fohdd AU hi LTI i ?
(A) =TI HHA (B) oS TR w4
(C) = FEA (D) TS AU
82. Sharp pointed teeth inside human mouth are called :
(A) Molars (B) Canines (C) Incisors (D) Premolars
82. W J<F fowss 4 (B, (&Gl MORITF (Tl R ¢
(A)  (olFPAre (B) (HFW© C) IIFW© (D) =[oTT whe
82. WA YA (CO(RH LI I3 1ol <ol 2 ¢
(A) (o9 wis (B) (=w« wf® (C) Fequf® (D) SiateRe nfo
82. HMFAM GMfaSTa U™ SR AT | 8] ?
(A) BETHIEIAE (B) HITIE™ (C) E= BAE (D) T griT B1em
82. I % He & SIS THICI il I Hel S :
(A) i (B) &= © F% (D) ST =90

Paper-1 | E 41

P.T.O.



83. Which of the following Novels was written by Kanchan Borooah ?

(A) Mrityunjoy (B) Oximot Jaar Heral Xima

(C) Ontorip (D) Asol Manuh
83. RIS (IR Toyp Slgen I9<1E oA Plafee 2

(A) TI&T (B) SPIRI® A{ (=T STl

(C) eIl (D) & (2
83. IO (I TAIMA(G Pl T2 forcvest 2

(A) TG (B) SRINI® AR (A A

(C) = (D) el WT
83. TEMM 96 el ARG Siead aeardl faHH ?

(A) HITH (B) ATHHd S U e

(C) =Ry (D) A HITE
83. frafafed § § ®F-91 ST = &t g1 foram = o1 ?

(A) TGS (B) 3THIHG SN B0 HiHl

(C) 3l (D) 3T8d AE
84. Origami is the art of paper folding that originated in :

(A) China (B) Korea (C) Japan (D) Cambodia
84. JIoIE ©ie S e wRolIfR Teolfe R omrs tafew ¢

(A) & (B) Il (C) s (D) I
84. SNl =1 4 ot oiw s Aiw Tesife gl ¢

(A) b (B) cifz (C) @il (D) cifwa
84. MCIH A UGHH i@ foets oEH SAien 1w eS|

(A) =M (B) e (C) S (D) e 'fean
84. HWIS HIS i el SATEHT st St form So & &8 o -

(A) == (B) whif&m (C) UM (D) herteam
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85. Which country is known as the “Land of Rising Sun” ?

(A) China (B) Japan (C) New Zealand (D) Indonesia
85. (I (T “THITAN T (71" Tl GIes 2

(A) B (B) G ©) fTefEters (D) Breife
85. (W (7l “TUIRSII 9 (1 e Ao 2

(A) B (B) T (C) Tefermie (D) Wil
85. &9 BIeL@! WM STHE BIeX’ B ST ?

(A) =H (B) UM ) TR (D) < g
85. fohd <91 ! ‘30 TS Y QW' H AW Y ST ST € 2

(A) =M (B) ST (C) =Iiets (D) EeSTHfRE
86. Which of the following countries is NOT a permanent member of the United Nations Security

Council ?

(A) France (B) China

(€) India (D) United States of America
86. TR (FFL (7l AT Faisiel »Ifiava ZIE swop w12 2

(A) &= (B) B

(C) ©oF® (D) W< J&AIT
86. <Ibd (@ it Trifekead f=isial sifdamna =i s w1 2

(A) = (B) W

Q) eFe (D) R T&AIE
86. TRIE BT 9 BISW AT T L&Y SMRISH SFTH FsmT ST ?

(A) HHE (B) =M

(C) 9Rd (D) ST U TRY
86.

frefafed 5 9 F 91 <9 9 T YRay TRuS o1 Tl 969 & © 7
(A) e (B) =

(C) 9rd (D) EgH T THh]
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87. Saptakanda Ramayan was written by :

(A) Horibor Bipro

Madhava Kandali

(C) Ananta Kandali (D) Hemo Saraswati
87. PG I (I ffea o

(A) =f7e Ry (B) iz FWlen

(C) TG FWie (D) @ 3_TS!
87. TGS FY 6w FCARCE 2

(A) = e (B) ¥ et

(C) TG I (D) IS
87. T@HUE THEE! R feamm ?

(A) TR fag’ (B) WY HUSat

(C) o Husel (D) B |EE
87. TwHIUE TE fohdeh g foredt e off 2

(A) R fag (B) WI¥d whafcd

(C) 3THd hefd (D) TH qLEr
88. What is the currency of Indonesia ?

(A) Ringgit (B) Dinar (C) Rupiah (D) Shilling
88. IR YT I & 2

(A) G (B) fu=im (C) ol (D) fRifere
88. MM Y& F 2

(A) fafre (B) fum (C) ol (D) fRifere
88. 3= 'fgat @i @ ?

(A) Rfm (B) feiw (C) = (D) fafd
88. SSHITVIAT 1 &I AT ?

(A) ffia (B) <R (C) == (D) fafan
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89. Which of the following is NOT an IPL team ?

(A) Delhi Capitals (B) Gujarat Giants

(C) Sunrisers Hyderabad (D) Lucknow Super Giants
89. RGNS M2 (FACG! SN2foae wel 72d 2

(A) T @ forbee (B) ®TRIG TIETR

Q) RWRITEE FIv@AM (D) #CH! T SRR
89. WIBF (PG SR . qe1. wel 7T 2

(A) Tl Fifo(GEm (B) THIG SIHDA

Q) AmaizEn ZRmRm (D) CH oI SIRGH
89. TRMEM we WG o718 4 v A el =T ?

(A) Tt shftded (B) TSI SBTAH

(C) HMURSIE AUl (D) a3 UR SEAH
89. frefafad § € HH-4 o1 o Ta 39 & © 2

(A) foeeht *wfteew (B) T[SWId SIEH

(C) TR TEE (D) TGS gR SHd
90. Which of the following is responsible for converting milk to curd ?

(A) Actinomyces  (B) Lactobacillus (C) Fusobacteriota (D) Malassezia
90. NFTF 7 (&1 TS I CFaqe WIS (@R S o420l 31 2

(A) «fSeNEde  (B) (FIFEbeR (C) FIREIRAG! (D) ereoiert
90. WA (I FUCF w30 ToATER Sej WA 2

(A) OEEMEPE  (B) SURGRIPER  (C) FEIRRGREE (D) SUECe
90. TR BT TS MEERE MEEETET ST ?

(A) TwRAHEEE  (B) WwRWEaE  (C) FHERIRE'T (D) e
90. T I <& H e & foru frefafad § 9 #F fodier 2

(A) TfRAmEad (B) dRISTgeTH (C) WEEFEIRERT (D) WS
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91. The Ramcharitmanas was written by :
(A) Kabir (B) Veda Vyas
(C) Adi Shankaracharya (D) Tulsidas
91. FIAGFOT Il T ISR (202 ¢
(A) KA (B) @I
(C) I R (D) gEmIMM
91. FIAGHONT (=1 e 3
(A) W (B) WA
(©) i *=mR (D) gETAMMA
91. THFIRaEARE! R ferRAmEH ?
(A) HIR (B) g =
(C)  fE 2RI (D) FoATa=
91. THERGAEE fSAE foren T o
(A) HIR (B) o =M
(C)  enfe Jiehrard (D) JerHieTE
92. In a family, the sum of the present ages of the father, mother and the only son is x years. Aftery
years, the sum of their ages will be :
(A) 3x+y years (B) 3 (x+y)years (C) x+y years (D) x+3y years
92. B! 2IfRAIETS forrg, TG S NG 7T TSI FEITIZI Y& (91T 1 T | y T 12 (SETHAITI TP
I (AP T 2
(A) Bx+y3I=F (B) 3(x+y)I=d (C) x+yI== (D) x+3y =1
92. &b AARRIE 9T o1l TFel G GFNG 2[(q7 TS FCR (N9 x T |y I 7 I IR (9T
A ¢
(A) 3x+yI= (B) 3(x+ty) I Q) x+y=A (D) x+3yI=A
92. STforETee WY 7GRl fohl, fom TR framantT S=ist 19 x SER |y SERM 3 foaR S
STSITERTIET SHTe —
(A) 3x+y dER (B) 3 (x+y)dER (C) x+y MR (D) x+3y SER
92. e IRER H i, A1 3R SHhalld s ! SHM 3T &I A x T4 © |y T4 o 91G, Ik 3T 1 IR BT

(A) Bx+y T (B) 3 (x+y)ad (C) x+y=d (D) x+3y a4
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93.

93.

93.

93.

93.

Rabindranath Tagore was awarded Nobel Prize in Literature for :
(A) Ghare Baire (B) Gitimalya (©) Gitanjali (D) Gora

(@ICE! T AT IR IRFCI AR @I T61 3@ Fa 2T 2

(A) 9EIABE (B) MfeaIey (C) ATreigfe (D) Calidt
™I I AR (T ST #1 IR (T 2207 & 2

(A) WEARE (B) Moy C) Meigl (D) con=l
AT AT YAATSE ol ARG A ' A1 A SRl 2

(A) =R (B) firfamreran (C) firdrstedt (D) T
=AY R &1 fhg Ffd & fore wfecr # oe QR & gea foman e e ?
(A) ER R (B) hifawrea (C) Tfarsta (D) T

94.

94.

94.

94.

94.

Which of the following movies was not released in 2023 ?
(A) Jawan (B) Animal (C) Pathaan (D) The Kashmir Files

RRS (@4 5eIbbg 2023 be & (2=l s 2

(A) T (B) @fqcare Q) AN (D) W ITF FiZeTR
TIBR (@I BeIooaft 2023 AH e AR 2

(A) TeT (B)  SHIfsya (C) st (D) W SR FIZeP
MMM a9 AEYTE! 2023 HHLTEAE TRA™ S ?

(A) & (B) W& (C) &M (D) T' HTHR HEeH
frfafed o 9 sF-9 fRew 2023 § Refs 721 g8 ot ?

(A) <& (B) uftHa (C) WM (D) T HeHR HEed

95.

95.

95.

95.

95.

In Assamese literature, who is known as “Ekhud Kokaideu” ?
(A) Nabakanta Baruah (B) Medini Mohan Choudhury
(C) Kumud Chandra Hazarika (D) Kamalakanta Bhattacharyya

ST AROTS “Gyn FHEWS” AT FIF Gl AR 2

(A) TG 7 (B) el = (B
(C) T oH FEET (D) TG SGHI
SRR AR (& “agn FHREME” I ARbe 2

(A) TG I (B) CaweTl Cati= (oI
©) T om I (D) ARG ©GIE
TG YAezeTs W@l ¢ e & 'HEed | A fafer 2

(A) oI SR (B) HfcH wed =yl
(C) FHE == B 'L (D) AR A=
ST wifecd § ' TEE w3’ & AW § foRd ST ST € 2

(A) ToRid T (B) HfeHl Hie =herd
(C) FHS == Bl (D) ¥R e
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96. How many squares can be identified in the figure ?

(A) 21 (B) 18 Q)
96. ©&F foACoIS [FNEG! I5(CFG (ol TR 2

(A) 21 (B) 18 (©)
96. eine forg 3 39f Fofere Fat = 2

(A) 21 (B) 18 (@)
96. HrERTIETE WA 9 o A | ?

(A) 21 (B) 18 ©)
96. T3 T o= ¥ fovan o1 Yg= <1 Hehd © ?

(A) 21 (B) 18 (©)
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97.

97.

97.

97.

97.

Soniya drives four km towards the west from her home, where she crosses a bridge. She takes a
left turn and the drives for six kmes, till she arrives at the town center. Here she takes left again to
drive for another twelve kms to reach her office. If she decides to take a shortcut on bicycle, what
would be the shortest possible distance between her home and office ?

(A) 18 km (B) 12 km (©) 9km (D) 10 km

(R 777 #[1 #if*5e fitet SifT 6.5 SIS 5eti2 @3 ol 219 23 | SR ASIce IR = =660 =9 it 5iew
TR TolfFe 23 | 2 ©I2 7719 i€ Tweel i =i a7 (6.6, 91181 5e712 ©i23 wIfeb izl | 7 ol 5y AGE
HiREeTe (ARR PI&IS o1, (S0F ©I29 19 S SIF6E NG Jox HEI9F g [ 232

(A) 18 M. (B) 12 .fL. (C) 9 R=.fw. (D) 10 6L

T ©lF AT (A =163 eE o 7., 9l e, (@ (1 930 @ET Sifoems S | (1 A Wi (e
T @3 = .31, SN BT Foitaa (e (<71l | QT (1 S1iRi <iifvss e il (6.0, aifS miferc wifzee
TR | @7 I TRERE 5t AR TR Frale (717, Size o Y 3R SIRFER N Paos 7y Fo
(A 2

(A) 18 fBf. (B) 12 & (C) 9= (D) 10 f&f.

i et 7 'fee JEEt 3 fea frer MR e aret SRie for gren v aredn | fa et
fféam ' forar 'fer oMM 2=A I=r il | foe sama smiere stifafy fafdam i forar firer mRt
HIAIAAH T Aagaa diedl | S[fe ol drEchal AramaH g’ ammst arel, fof 97 o Jegfar
USRS IREISIERIRIC I

(A) 18 fa.fa. (B) 12 f&.fA. (C) 9 fmfa. (D) 10 f&.fA.

Gifrn 199 =R 9 ufem it SR =R fordt T Tt €, Sl 98 Uk g IR I § | 98 9 % qedt ¥ IR
TR Y UgTH qh B fRH d% TS T § | IRl de 19 HEierd q% Tged o fore R @ o1d gedt ©
3R IRE fohHt o TS Tt § | Afg 9% GEfhe W widwe o F1 vl ot 8, @ 59 TR iR e &
S =AaH e gl T g ?

(A) 18 km (B) 12 km (€) 9km (D) 10 km

98.

98.

98.

98.

Lohit walks from Black to Pink, which are 9 meters apart. At Pink, he takes a right turn and walks
4 meters to Blue. He takes another right turn and walks a distance of 9 meters to Red. At Red he
takes a left turn and walks 2 meters. How far is Lohit away from Black ?

(A) 4 meters (B) 13 meters (C) 22 meters (D) 6 meters

(S @& Za 11 9 TR yawe 45! o3 B (el T | ke Zie (od Gitaics 9@ wiss 4 SoR
ISR F B A9 | 3® (08 771 FIRICS Y@ o= 9 WoF (T (@€ BH 2| ([{C Fe (08
GO (S W6 2 WOF (S DD | (2 Gzl @@ Zee 791 [ e e 2

(A) 4 TR (B) 13 o™ (C) 22 FER (D) 6 TG

@1If2s @ (A 1= e 20, o vag 9 fioR | foikeE (31 i s Aie 7a @k 4 617 &6 g0 56
R | 1 SRR SIS (G (T @R 9 O 7379 (206 ([0S (TR | ({8 (0P (1A (T (77 =% 2 o
2T | (NS G (A F© 70 SR 2

(A) 4R (B) 13 fio® (C) 22 o= (D) 6 foR

Aifed seishf-wRr Tishfom 9 fHer ereml | e fardt sTTatfef frfdam 4 fHer ememedm sejeTar e | fore
STRE STATETY i 9 fHer Yefaw arar | 3ea fordt sty fifdam 2 fier ememe | wfedr serhf-he
Y TS T ?

(A) 4 R (B) 13 feRr (C) 22 fAer (D) 6 fHer
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98.

qifed 1ok 9 fies Tk Tt € S 9 et &t gt W & | fih W 9% 3¢ Hear § 37K =g ot 21X 4 Wex Jard T
IE TH IR R T G © IR T qh 9 HiX it Tl 7 el € |1 3 W 98 St 1R et © 31 2 Hiex e
T | Tifed =t & forat WR?

(A) 4 HX (B) 13 HIX (C) 22 Hi&X (D) 6 HieX

99.

99.

99.

Raj has to catch a train at fifteen minutes past three in the afternoon. What would be the time on
a 24-hours scale ?

(A) 03:15 hours (B) 15:15 hours (C) 13:15 hours (D) 23:15 hours
Jice fxfer fof A1 coirga fifdte @i (@ a9ie! «fs =19 Btz | 24 - IO TG #I® @8 757 529 2
(A) 03:15 TD) (B) 15:15 ¥<BI (C) 13:15 TD) (D) 23:15 5]

A [ foobl (@0 A WG G 408 @ | 24 - 6 Aol T F Z A 2
(A)  03:15 9o (B) 15:15 Wio=H (C) 13:15 @H=H (D) 23:15 9o

99. IS 3 et fotan fafera =t 't Iermet TR | 24-51 Hanama 99T S« S ?

(A) 03:15 =T (B) 15:15 == (C) 13:15 &=1 (D) 23:15 ==
99. Tl o IR I T U FHE W ¢H Ul ©1 24 T & YHH W F9F 1 8 2

(A) 03:15 & (B) 15:15 & (C) 13:15 & (D) 23:15 &
100. Which two terms would come next in the series :

24, 26, 35, 63, 48, 124, 63, 215, 2, ?

(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342
100. 24, 26, 35, 63, 48, 124, 63, 215, ?, ? *RIFANGIN /TS TS (e G5! A2} AT 2

(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342
100. W€ FALCO 2RTST (I Yo FR2T SR 2

24, 26, 35, 63, 48, 124, 63, 215, 2, ?

(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342
100. TEEM 9 B UREEn S Y9a e WA 24, 26, 35, 63, 48, 124, 63, 215, 2, ?

(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342
100. S 24, 26, 35, 63, 48, 124, 63, 215, 2, ? | 3T A | & Ug AT ?

(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342
101. How many milligrams make one kilogram ?

(A) 10 (B) 103 (C) 104 (D) 106
101. & fFeenias 3o e e e

(A) 10 (B) 103 (C) 10* (D) 10°

101.

e FleTales g [eeTias =7 2
(A) 10 (B) 103 (C) 10% (D) 10°
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101. =9 fAfems | fohet ‘o S ?
(A) 10 (B) 103 (C) 10* (D) 10°

101. foha firefiom &t foraiom s € 2
(A) 10 (B) 103 (C) 104 (D) 10°

102. What would be the middlemost digit in the smallest number that can be made using all the digits
of 8936217 ?
(A) 3 B) 6 © 7 D) 9

102. 8936217 FR2GIA S!S TR I FRQ A JeTos FANG 35 Gliiiers @t ok A 2
(A) 3 (B) 6 © 7 (D) 9

102. 8936217 €3 ANE SHW IR FCF #A1S Fores TR 05 warw o&fH F1 7 2
(A) 3 B) 6 © 7 D) 9

102. 8936217 1 T AHTHIRRG! @M T HE SAMgE Gefae STARTHIN TSR oRre o= |HSH 0 2
(A) 3 B) 6 © 7 D) 9

102. 8936217 % |l ikl o1 ITANT Hleh T3 S ATci HoY DIl HEAT 1 HEATH 3ok T BT 2
(A) 3 (B) 6 © 7 D) 9

103. What mathematical signs can be inserted respectively to get a correct equation (calculated left to
right ignoring BODMAS) ?
6513017 []15[]5 =15
(A) -, +/ - (B) -, X, +/ -
(C) +/ — X/ - (D) +/ -, =, —

103. (N =g #[ @it (T 9leil F 92N BODMAS st siesvie @) 65 [ ] 30[] 7 [] 15[ ] 5 =159
G 7 AN AR (SRR oMo Bz 7@ swge (< i 2
(A) -, vy +/ - (B) -, X, +/ -
(C) +/ -, X, = (D) +/ -, =, =

103. GG AIF TR (olce 1 ailfelfeT bwfr It AHEMS 1 @S 2@ (BODMAS ol = AW
(/T T 9ol 1 RCACR) 2
651301711515 =15
(A) -, vy +/ - (B) -, X, +/ -
(C) +/ - X, = (D) +/ -, =, =

103. 59 FREMYSR THAGRE! SHEE 9R FHFAEGE! A1 R (BODMAS 8@ HafqaH, rfafws
ST fedTel EreTHaie) ?
65[]30[] 7 []15[]5 =15
(A) -,y +/ - (B) -, X, +/ -
<) +, -, %X, + D) +,+, —, —

103. W& THEHT (BODMAS ! 3TREN Id gT a1 & Y M) W Hi o fere shoen: b § ot fome

I =Tl S U © 2

651 30[]7[]15[]5=15

(A) —, =, +, — (B) —, %X, +, -
<o +, -, x,+ (D) +, =+, —, —
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104. Identity the odd pair.
(A) Pacific : Water (B) Himalaya : Mountain
(C) Vesuvius : Volcano (D) Mississippi : River
104. 3T (AR BeIIE 7 |
(A) =g ¢ o7& (B) fewer ¢ »Rf®
(C) TRz s wnearRfalf (D) fifeff ¢ it
104. oW (Seil bize T |
(A) =g ¢ o7& (B) fewer ¢ »Rf®
Q) covfoam ¢ s (D) st ¢ it
104. S SRr@ET fom -
(A) ufafre .2 (B) femrer : s
(C) Igim : 31T Bl (D) fafafafa . <m
104. SIS SISl &l 984T |
(A) A : A (B) feurer@ : weld
(C) =gfom™ : ST El (D) fufafafa .
105. What would be the digit exactly in the middle when 65749 is subtracted from twice of itself ?
(A) 9 (B) 2 © 7 (D) 8
105. 3% 65749 FRAICHIF AR 728 FRAT “I71 KA 91 27, (S0 FAFAGIR 5F e 4! SF0o! fF 21 2
(A) 9 (B) 2 ) 7 (D) 8
105. 65749 (& OF fage (203 ReAel T 0 MRIIER =& 1 23 2
(A) 9 (B) 2 © 7 (D) 8
105. 65749 @ fafT TAHASTRTATTRR @ sl HAAR STHISHT ToRIR FH{SHTET o7 2
(A) 9 (B) 2 © 7 (D) 8
105. 6 65749 %! 39h T W F fean S ot uRem & Sisk oia | -1 37 grm 2

(A) 9 (B) 2 Q) 7 (D) 8
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106. What would replace ?? in the triangle set ?

A

(D) 12
106. ??W%Wﬂﬁﬂa‘z
e
A A @@
(D) 12
106. LR .?9%%@%&%‘5@9
e
A A @@
(D) 12

106. Wﬁamw ??@m@h@gmﬁq.

A
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106. 3 T S AE H 2 7 o1 T 1 &1 2
(A) 9 (B) 11 ) 10 (D) 12
107. Total age of three friends - John, Johnny and Janardhan, whose birthday is on same day - is 84
years. What was their total age four years ago ?
(A) 72 years (B) 80 years (C) 78 years (D) 76 years
107. @30l Were o (2l fof agi— e, i i< Sreiiviers I2910 39 (1912741 84 I | BIf T2 #I 1 (ST
TR TS (e I e 2
(A) 7231 (B) 80<=d (C) 783 (D) 76 =
107. TS I3 - O, Tl 3R Sllvel, TR S A3 s - (G 9297 84 T2 | 517 T S9! ©ITE (G I3 F°©
ey 2
(A) 723=1 (B) 80=1 (C) 783=d (D) 7631
107. UM AFMRRA - 5F, S, SHREE, Safq SHAHEE GHaare) - SaeT 19 84 siER | sSers fa
ToERR SEieT ST SEwE ?
(A) 72 SER (B) 80 SR (C) 78 sER (D) 76 SR
107. < i - S, ST 3R S, TSRt Sfes weh & feT § - el 30 84 99 ¥ 1 9R 99 g S Fed
39 o/ ot ?
(A) 7294 (B) 80 TH (C) 78 ad (D) 76 IH
108. Which one of the figures is different from the rest ?
@ G | S;
1 2 3 4
(A) 2 (B) 4 © 1 (D) 3
108. (NG fbg SRS (ce Ko 2

P ==l
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108. Pauler W @NT SyelEd (AF w2

B==|n

1 2 3 4
(A) 2 (B) 4 ©) 1 (D) 3

o

108. &9 HIAY HMRAT TITRRIAHRR ST :

@&utu;
1 2 3 4

(A) 2 (B) 4 © 1 (D) 3
108. STHfql & ¥ -9 99 hfaai 9 = €2

D= =|n

1 2 3 4
(A) 2 (B) 4 ) 1 (D) 3

109. Which of the following is NOT of the same set ?

(A) Cash Payment (B) Mobile Banking
(C) Debit Card (D) Net Banking
109. =R 2T (@G AT (9151 TS T 2
(A)  =om ARty (B) GIRIZe (AR
(C) CoRGHIE (D) G5 @&
109. 0% TEie @A @33 (o o 2
(A) 9 Bl @i (B)  CRiZe pighR
©) (eRere (D) G5 g
109. RN &= T& YR TT?
(A) e T S BAE (B) WeEA dfh
(C) <fae &R (D) e difeh
109. frfafad § ¥ SiF 1 Th & 99 F1 7@ © ?
(A) e qIAH (B) HramEd Sk
) Sfoe = (D) e ST
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110. What would be the Arabic numeral for MMCDXLVII ?

(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447
110. MMCDXLVII J @ SR<T 7RG F 29 2

(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447
110. MMCDXLVII «3 9@ 72071 & 23 2

(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447
110. MMCDXLVII 1 AR& SHfSH™ |71 S ?

(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447
110. MMCDXLVII % foru sweft i @ g 2

(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447
111. Identify the incorrect Roman number.

(A) Thirty six : XXXVI (B) Ninety nine : XCIX

(C) Seventy four : DXXIV (D) Nine hundred : CM
111, Se& @ ARG BAle T |

(A) = ¢ XXXVI (B) It ¢ XCIX

(C) (BPTeR ¢ DXXIV (D) ¢ CM
111. S@F @ 7RI iz T2 |

(A) =& XXXVI (B) f=IMRE : XCIX

(C) B : DXXIV (D) TW*®:CM
111. 7RI T WH SAfsEmE! 9= ?

(A)  gm S & XXXV (B) TSI’ : XCIX

€ fafas:Dxxiv (D) SHT':CM
111. Tord A9 & IgdaH |

(A) BUE : XXXVI (B) T=ma : XCIX

(C) =rEw : DXXIV (D) SrdE:CM
112. Identify the next set in the series :

L3P, R4W, Y5E, G6N, ?

(A) O7V (B) R7W (C) Q7/W (D) P7X
112. L3P, R4W, Y5E, G6N R0 #15ae! 7k2fech! foriie 355 |

(A) O7V (B) R7W (C) Q7/W (D) P7X
112. =we GEIfog oas ! kel bizre w3 |

L3P, R4W, Y5E, G6N, ?

(A) O7V (B) R7W (C) Q7/W (D) P7X
112. L3P, R4W, Y5E, G6N HIEme Sere S e -

(A) O7V (B) R7W (C) Q7/W (D) P7X
112. sJ@n L3P, R4W, Y5E, G6N, ? , H 3Tl ¥ &l T84T |

(A) O7V (B) R7W (C) Q7/W (D) P7X
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113. Which of the following is different from others ?
(A) Ammeter (B) Perimeter (C) Altimeter (D) Anemometer
113. RS 72T (@05 SRS 52 2
(A) @fioR (B) cIfRfGE (C) wIfGRbR (D) G fRoE
113. SI6F (PR SR (A S 2
NERIERE (B) ~RGE (C) =RLRGR (D) SUIFCIRGE
113. =M™ SCER] ‘\lﬂ"l“hl{ﬁ&hlq N[aT -
(A) THHR (B) URfR (C) UleefHer (D) TR
113. ffafed § 9 HA-91 gl | s 82
(A) THIRX (B) TR (C) sTetHieX (D) THEHTR
114. Philately is related to :
(A) collection of match box (B) collection of postage stamps
(C) collection of currency notes (D) collection of fountain pens
114. feTiehfer gietcst R wfve ¢
(A) AGEIZ AFG HREZ (B) U TG AcaT
(C) mlE G e (D) TFIGCO3 (ol A&
114. RFTGRER ML A~ 3
(A) IR @7 s A<aR (B) TI% i @ Mag
(C) olce™ @l ez (D)  I=el F&T (FIGLD (21) A2
114. foren "qeftan |rsi Q<] T 2
(A) T dTRg YT (B) T feshe gy
(C) T ferets gywA (D) WS=A U (W) YA
114. freteet foed Hefya ©
(A) wi=" ot fesslt @1 907 (B) T fedel o1 WIR
(C) TR 1 9UT (D) RIS U T WIR
115. If ROCKET is written as TQEMGYV, then what would be the last letter when RAINBOW is written
by the same code ?
(A) Z B) Y © A (D) U
115. A ROCKET & TQEMGYV fZ51(3 '8 91 &, (ST (0! $'0 RAINBOW f1Rite T wifeew efeo1 i
232
(A) Z B) Y © A (D) U
115. I ROCKET ( TQEMGV 2T (w14l &, Ol 58 ALF© 71 RAINBOW (1211 2051 (< STiG

o ?
(A) Z B) Y © A (D) U

Paper-1 | E 57 P.T.O.



115.

115.

Jf€ ROCKET @ TQEMGV oA S, o7eett of TQ et RAINBOW ferteet Siiarerm giwien |1 S ?
(A) Z B) Y © A (D) U

Ffe ROCKET & TQEMGV & &9 H forar Sl €, a1 SH1 1S g1 RAINBOW o1 fereq W Afaw e7er o
BT ?

(A) Z (B) Y © A (D) U

116.

116.

116.

116.

116.

Ramya’s mother is the only daughter of Prachi’s father. How is Prachi’s husband related to Ramya ?
(A) Father (B) Brother (C) Paternal uncle (D) Grandfather

TR MY AR e GF=1g SRIST | BT FE TR GICS (0 TIRE TAFS 2
(A) fore (B) I © = (D) =

T A LG AT GG GG | TR AT 26 T AAF T 2
(A) foret (B) ®i® (C) =l (D) Jrgmi

et fomran yreita fagfs aer’ fears | =i e T a1 SR S 2
(A) fam (B) fac1/ e (C) o= (D) fo=it

T &t AT YT & Ut Bl Sehaldl Siet 1 9TR o ufd 1 TR W R He Y § ?
(A) foa (B) g (C) == (D) <=

117.

117.

117.

117.

117.

If A=26, B=25, and so on till Z=1, then what would be the sum of STAR ?
(A) 32 (B) 67 (©) 50 (D) 55

Tt A =26, B=25, 9% Q@ SR 09l Z=1 2, (90T STAR T I (@l91a1 fFiw 292
(A) 32 (B) 67 (C) 50 (D) 55

It A =26, B=25, 432 @3©IF Gfal@ Z =127, ©& STAR -4 (Fl5[e] T 3(F ?
(A) 32 (B) 67 (C) 50 (D) 55

e A=26, B=25 9[fc Z=1 &9 e, stee STAR 1 ISIerR= 98 SHIH ?
(A) 32 (B) 67 (C) 50 (D) 55

Ife A =26, B=25, 3R 3M Z =1 e 3H YR &, q STAR hl I 41 BT 2
(A) 32 (B) 67 (C) 50 (D) 55
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118. Which of the following words is correctly spelt ?
(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
118. RS (PG =< I 9= Tl =g 2
(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
118. IR (P =07 I AT 2
(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
118. TR sl HiGHE(- ST 91 2
(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
118. freAferfad 4 @ = |1 vse W&l aa+ 9 feran @ g ?
(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
119. What should be the missing number ?
69|15
8 12| ?
41610
(A) 18 (B) 16 (C) 24 (D) 20
119. S=(F® IO [ 27 =115 2
69|15
8 12| 7?
41610
(A) 18 (B) 16 (C) 24 (D) 20
119. S#ifFe 74 & 267 TH© 2
69|15
8112 ?
41610
(A) 18 (B) 16 ©) 24 (D) 20
119. <1 QA ASI 3778 QA ST ?
69|15
8 12| ?
41610
(A) 18 (B) 16 (C) 24 (D) 20
119. STUfeT @& =1 B =feT ?
69|15
8 12| ?
41610
(A) 18 (B) 16 ©) 24 (D) 20
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120.

120.

120.

120.

120.

Which of the following is correct when calculated from left to right, ignoring BODMAS, if the rule
says, 5+2=3,5-2=7,10+2=20 and 10x2=5 ?

(A) 9x3-1+2=18 (B) 5+1+4-3=19
(C) 6x2-1+2=12 (D) 7+2+4-2=14

BODMAS st sialel & af 54+2=3,5-2=7,10+2=20 S 10 x 2="5 I 7(I 7% SepRe T4t 27,
COCT QST 291 HIfiteT sieli fcet Fafie e @) Sfe w2

(A) 9x3-1+2=18 (B) 5+1+4-3=19

(C) 6x2-1+2=12 (D) 7+2+4-2=14

M @F TR 542=3,5-2=7,10+2=20 @R 10 x 2 =5 =, O BODMAS T[5! T AN (AF T
SfeleTl A AT NIBF (P SF 2

(A) 9x3-1+2=18 (B) 5+1+4-3=19

(C) 6x2-1+2=12 (D) 7+2+4-2=14

e MUY 5+2=3,5-2=7, 10+2=20 3R 10 x 2=5, 3 BODMAS 1 F0@t Jafgam swfafem
ST fedma WIAHeEe MR J6 9R ?

(A) 9x3-1+2=18 (B) 5+1+4-3=19

(C) 6x2-1+2=12 (D) 7+2+4-2=14

Ifg 99 542=3,5-2=7,10+2=20 3R 10x2=>5 F&dl §, A BODMAS &I @I Fd gL, a¢ &
TME T 3R TUAT A R F=Afafed § 9 sE-91 98 2

(A) 9x3-1+2=18 (B) 5+1+4-3=19

(C) 6x2—-1+2=12 (D) 7+2+4-2=14

121.

121.

121.

121.

121.

Identify the word which cannot be made from CARBOHYDRATE.
(A) AHEAD (B) RETRO (©) YACHT (D) HYPER

CARBOHYDRATE 3 %]l 9519 {7 @R[ *194¢6! e 3 |
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

@7 =6 CARBOHYDRATE (23 (o1 521 T 1l ©f fofzre e |
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

MeE 9 W@ CARBOHYDRATE fwm fegamt g ?
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

3T I i T, ST CARBOHYDRATE ¥ &l 9= T Wehal |
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER
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122.

122.

A six-faced regular die always has the total of dots in opposite faces as 7. Four such dice are
thrown, and the top of them shows 3, 3, 2, 6. What would be the total of the dots in the faces
touching ground ?

(A) 15 (B) 14 ) 21 (D) 17

% -1 g A siiieba fifTze ool R ke «rmes itz ice 2fs [eidrs e weie 3o
CI51FeT AT 7 2| SIfRG! e g1em Aimiaft nferedre ol FifdTme @ 3, 3, 2, 6 W ) (w1l
e SNl (e il i 91 FfdeTze 2t K 7141 30 (@ioree [T 2

(A) 15 (B) 14 () 21 (D) 17
122. @f Fafire = sz (=) 1o Refre #ja @ q@ieres 7l 7 | @3 430 5« eeest 51 =@
3R SIHE M 3, 3, 2, 6 77 @i | Bfsl = 211 jroa Repefm @b @isres & 2@ 2
(A) 15 (B) 14 () 21 (D) 17
122, < i@l 1 SEE S Hraihe o fardif QreerTie Steare 71 W T et G Wi
HE®I 3, 3, 2, 6 Taferel | et o daieR arstemmE -
(A) 15 (B) 14 () 21 (D) 17
122. U B¢ ol fatad o § goen faudia werenl | foigsti o1 9m 7 21 € 1 T8 =R o ek 9 &, 3fR 3%
3 W 3, 3, 2, 6 Toig fe@m a1 <A 1 B ool Wersh! W feget o1 e AT S Em 2
(A) 15 (B) 14 () 21 (D) 17
123. Identify the word with no pair of consecutive letters placed together.
(A) Alphabet (B) Partner (C) Rightness (D) Station
123. (I QAR G 7 GEreesl 7245 =51 e 5 |
(A) Alphabet (B) Partner (©) Rightness (D) Station
123. (I GFCETG! G 39 AN sRfEe T =@t Bize |
(A) Alphabet (B) Partner (€) Rightness (D) Station
123. TR sl HiGTeel S W o e = 2
(A) Alphabet (B) Partner (C) Rightness (D) Station
123. 39 E i TEAM i TS6H AR TR 1 i Siel Teh 19 7 @1 T 2 |

(A) Alphabet (B) Partner (C) Rightness (D) Station
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124. Identify the set that does NOT follow the common rule as others.

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
124, ST SN2 [ 20 Sepieel w4t [Rsiio! ot 55 |

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
124. SFIH SICO! G2 AlKRel 271 Sl 7t 11 1121 fb fbfere 0 |

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
124. TREHEM 96 YU [IARR SR S "9/ T1 A= ?

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
124, 39 Y2 &I TETH H{ S TR &I T T 90 1 I & Bl ©

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345

125. If 9 < x2 < 25, then the correct value/values of x is/are :
(A) 3,4,5 (B) 4,5 © 3,4 (D) 4

125. M 9 < x2 < 25, (O(T x I & N / TePTR (Z(Z —
(A) 3,4,5 (B) 4,5 Q) 3,4 (D) 4

125. I 9 < x2< 25 T, O  x 99 ©F W (S ¢
(A) 3,4,5 (B) 4,5 Q) 3,4 (D) 4

125. €9 < x2 < 25 SH, Tl x 1 9R A / AHGR
(A) 3,4,5 (B) 4,5 Q) 3,4 (D) 4

125. Af€9<x2< 25, x hI TE AA § :
(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4

126. Of the following words, which would be the last to appear in a standard English dictionary ?
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

126. 9 NS G SfeLiTe MEHARS *~EREa @R =R FKews A 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

126. R *rafw S @ 9 S 3EE! SfedEe (T aviie 21 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

126. TEETE S HRIAHRM TSNE, o6 HiGre AIE SOt Gk fSgsie SArd-m I ?
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

126. f=fafad wssi # |, AFe 3TIST g™ § Aaren Afaw I8 shiF 91 & ?
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE
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127. Statements : I.  Non-metro cities in the country have been suffering due to load shedding

for quite some time.
II.  If the Government is not able to overcome the power crisis, load shedding
will be extended even to the metro cities.
Which of the following conclusions can be drawn ?
(A) Both Statement I and Statement II are effects of independent causes.
(B) Both Statement I and Statement II are effects of some common cause.
(C) Statement I is the cause and Statement II is its effect.
(D) Statement II is the cause and Statement I is its effect.

127. TfE ¢ I R GGl REH 553 Tz (e (xifed Aica Tee® e 11 58 of wnifar|

127.

127.

127.

IL W 5SICs Rgges 756 79 SR (RIS, (9% (G b2 R0€ @ (iR Seiifae
ZTd |
i @ Frarge TomTs 29 0 2
(A) ¥ I 9= T 11 701 F9F S0 AE (@[ doK |
(B) & I 919 Tf& 11 YIB! (FIE TSI SR A (Al 2o |
Q) & I 2z Fel =% T 11 (202 23 2OR |
(D) i II T2rz T199 % T 1 (202 33} 4l |

@Res 1L g a3 Rge w6k «3 oo (e 913181 =23 ten garg |
I &SR e 7306 ST Tors 71+ (NG *z@e e gt wige 2@ |
s Tl (W TopikgRibes (TR T 2
(A) Teox fJfe1 ik figfe 11 iEw SRR 2R |
(B) Tox el 3 RIS I w2 TR 2o |
(C) TSIz Fimel @z RIS 11 =7 IfFeirs |
(D) TSI =7 Fiet @k Y1 21 ifFeirsr |
foefamic: I AR 798 FRRERT S ged Hifsed TRAM™ (Load Shedding) T 1@ Tamaf o
G HERHAN ST |
I S OE Hifserd MRl STEmeral |ig-l grmeet Hifsetd TRATAT ARTRATRR FH T |
UIRIREESIERREIEEISICEIR R
(A) g 1 & faefar 11, @r-sn 33 SEAf Se
(B) Tagifer 1 3R faraifer 11, Hiail &'amet SRMAf e
(©) faafar 1 o1 SEF e fagfa 1 osn fafy SieA
(D) fagfr 11 311 SR 1R fargfer 1 =71 fafs s

HIT: L I FH IR IR FIE I G A AET T T § 5@ W L
II. TR SR foeielt Hahe 9 3ok & Ui a1 oiig VTS 1 S el Il as off &g S |
frafafea § @ o0 a1 frepd freren s weha €2
(A) HATI IR BYA I A T HROT & G F |
(B) @R I SRR I1 T Fordll AT R & Jo7e € |
(C) AT FNU T IR HAT 11 THH T4 T |
(D) A I FHRI & AR HYT 1 THH I9E ¢ |
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128.

128.

128.

128.

128.

Michael needs to go to university for his test. He started from the East and came to a crossing. The
road to the left ends in a Railway station, straight ahead is the Museum. In which direction is the
university ?

(A) South (B) East (C) West (D) North

EFCE AR A REes I Aol | (o€ SRR «[ g o8 IR 96! sikeifere Tofge 2%
(D€ INE T ALCH! GBI (IBTC (BHT® (¥ (20Z; (AN (I SioiteT o1 'teT ol fefers ez | Kedfmyterzee
P! e SfFe 2

(A) mfERd (B) (C) Moy (D) Tes

NEFE O TR G RIRMEE TSR AR@ew 2| (7 2376 (A0 @ &F @ G0 IR
S | MR B! G0 (FEAEEHE (< AR, CTIS! AN Aee | efRwier @i e 2

(A) mfEE (B) & (C) Afow (D) Y&

ATghell TG &A1 Heraraianterars i | forll THsioRr SHeRaMM Hd T GSeHTaTe Shers |
STrfafeif S Ya Ruere ereengd, s e BfSEmE e | gerEaitern 99 fersi 2

(A) = (B) WISl (C) = (D) W@

3T 3% Te o T Hrgehet ot fovaformera S €1 9@ qd i o9 Tt 3197 =R | & ol 3IR Ush IR
R TEAT| T AR H Hoh Teh {@d WIH W TATK 2t ¥ 1 ik 3T &l Ggh W A Tk GUEE B
farvafaemer fog feen & 2

(A) <faqo (B) & (C) ufv=d (D) W

129.

129.

129.

Five cadets Charles, Harmit, Om, Piyush and Tapan were asked to pick up one each of the geometric
figures : a circle, a pentagon, a trapezoid, a hexagon and an octagon. They had a condition that
one cannot draw a figure which has a name with same first letter as that person’s name. Om’s
item has exactly one pair of parallel lines. Charles, Piyush and Tapan picked figures with more
sides than a quadrilateral. Piyush as well as Tapan’s figures had lesser sides than Charles’figure.
Who picked up the circle ?

(A) Harmit (B) Charles (C) Piyush (D) Om

#|f5 5I9I5T (86 Charles, Harmit, Om, Piyush ¥1% Tapan ¥ Circle (J€), Pentagon (#1%¢%1), Trapezoid
(G, Hexagon (0% % Octagon (STHgE) wifn Sifsfes I(lSu‘M}L-'{ﬂ G 3 '3 @l
TA| 5 o (T (OSEIRR KA INE SRS (08 (SECENS A @11 o arg s sl fifem
@R 2 94’ (@ Om F Hae 5 IR RIS (@21 A | Charles, Piyush 9% Tapan ¥ bq© Al
QIR 5\9\&@3 ARATOE S | Piyush % Tapan 5q® Charles 3 fPaoiF T WAF T AT |
Circle (3€) ! i b teifea 2

(A) Harmit (B) Charles (©) Piyush (D) Om

o 17 R (FICTH) Charles, Harmit, Om, Piyush @3% Tapan & Sififes 5@ Circle (3€),
Pentagon (A1%g%), Trapezoid (Gfeifem), Hexagon (I9g%) @R Octagon (gE) &3 (T (I
@36 @R e 79 2@ | i @ =6 orewl feet (@ oIl 2o @ @S foa e oiweEw I, @
bafbd NNF AYT SFFT OIZF AIF AL SFFFF A kﬂ@l Om «3 foafore % RSO AN (I
J@C=| Charles, Piyush €% Tapan PSS (5 (1 ARRME fba @z N | Piyush @3} Tapan g

50 Charles @7 5@ (2t 3 312 257 | Circle (J€) 6 & 91 2
(A) Harmit (B) Charles (C) Piyush (D) Om
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129. gren fafee’t wUTETER Charles, Harmit, Om, Piyush Ein Tapan G 9w HEw Hﬂﬁ\?ﬂﬂg[ EmR
Circle, Pentagon, Trapezoid, Hexagon 3 Octagon eliiprcieiE G EIDE IR EEINE R HR IR IR
SAME 5 qaa Matt g G g S SermiEt sTiEan | Omf wrermfEn s/E for st W |
Charles, Piyush 3Tl Tapanf- SeRTREeRET STRaTf-2fsif ST ST | Piyush 3R Tapan@l Charlesf
g WAAA | Circle Bl R 9@ @l ?

(A) Harmit (B) Charles (C) Piyush (D) Om

129. Ui el Charles, Harmit, Om, Piyush 3R Tapan ET| Teh Ueh SANMHAA ?ﬂﬁ?ﬁl =) ?\Fﬁ ED forq et
T : Th g1 (Circle), Th TerehioT (Pentagon), T THAS (Trapezoid), T WS (Hexagon) IR T
3TEHIT (Octagon) | ITh! I off Rl I3 Wl TET SMHd & o Hehell TSGR SHUSH 1 1 Y8 &R 3H
e o TS 919 & Ul 318 % THH B | Om & TEeH H HHMIR w@sil &1 faaga T Sier 7|
Charles, Piyush 3R Tapan = IS W Aferen el et a@ﬁﬁﬁ kaill Piyush iR Tapan Tl TRl
%I YT Charles S 3Th{d ¥ %7 off | g0 =1 fre 3@ ?

(A) Harmit (B) Charles (C) Piyush (D) Om

130. Statements : All pencils are pens.
All the pens are inks.
Conclusions : 1.  All the pencils are inks.
2. Some inks are pencils.
A)  Only 1 conclusion follows

B) Only 2 conclusion follows

@

Either conclusion 1 or conclusion 2 follows

(
(
(
(

)
D) Both conclusion 1 and conclusion 2 follow

130. f& ¢ ARCAIANT (TR T |
FRCAER SR IR |
fags 1. SEIER eifeecEs B
2. fogim oalgl ez coifeeat |
(A) & P& 1 Toare 29 i1fJ |
(B) (I P& 2© Toiare 29+ |
(C) P 1wl 2% Toe 27 2] |

(D) 19% 2 T Praiere Tore 24 i |
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130.

130.

130.

(e 31 coifoe oml |

IR TN e |
TR 1. IR (A ifeT |
2. Rg3ifer (ol

(A) G TR 1 SRPTRE B0
(B)  W4IE TR 2 SRRE B

(C) =TT 1 2| TR 2 SPRel IR

(D) T ToPicaR 1 @3 TR 2 SRRl

fagfr: e Afwen waHER

lII'{:\IG’II HeTHl GIfThR

EANS : 1. TR gl Gifa®R

2. HEE GIfahr Ifgehi

(A) 1 STEANET TR

(B) 2 SeI¥NETel’ TR

(C) 1T 2 I THEAE

(D) e, 1 3R 2, TR

wmoe ot e T E
Toft 99 = ¥

frepd . 1. wef e @ )
2. P @R UEaE )

(A) ae Fremd 1R qga S |

(B) hae Treapd 2 TR U S T

(C) = i fremd 1 2 freend 2 R og=n S €
(D) foeerd 1 7R frerd 2 S W wg=n s 71
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131. Which set of letters would fill the gaps in :
MAK, LEL,[ [ [ | joN, 1uo
(A) JKL (B) KIN (C) KIM (D) JLK
131. MAK, LEL,[_| | ], JON, IUO 7 R& Bz (FIRCs! 10icefor =1 oRa 2
(A) JKL (B) KIN (C) KIM (D) JLK
131. @i 2efesi®t MAK, LEL, [ [ ], JON, IUO - g w=f¥e =arzin 7l s 2
(A) JKL (B) KIN (C) KIM (D) JLK
131. TR o9 BE1 gaU el STEE! 37 @eiE - MAK, LEL,[_| | |, JON, [UO
(A) JKL (B) KIN (C) KIM (D) JLK
131. @& =1 H-91 ¥9e MAK, LEL,[_| [ | JON, IUO # fiem wam =1 s 2
(A) JKL (B) KIN (C) KIM (D) JLK
132. If the code for WATER is 67 and for DRINK is 56, then the code for RIVER is :
(A) 48 (B) 98 () 72 (D) 35
132. I WATER 3 & FTHA 67 =% DRINK F @ F°C A4 56 T, (O RIVER F A& F'T A7 (202 ¢
(A) 48 (B) 98 () 72 (D) 35
132. It WATER @ &) HF© T 67 €32 DRINK I &) 23 56, O80T RIVER G AFS T ¢
(A) 48 (B) 98 () 72 (D) 35
132. WATER T %2l 67, DRINK 931 56, RIVER 7 a1 -
(A) 48 (B) 98 () 72 (D) 35
132. Ife WATER & fet i€ 67 & 3R DRINK % foTu 56 ®, oI RIVER & foiq =re © :
(A) 48 (B) 98 () 72 (D) 35
133. Which of the four given sequences would be meaningful for the words ?
1. House 2. Street 3. Room 4. Town 5. District
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(C) 31,425 (D) 5,4,3,1,2
133. 1. <= 2. 3. @ 4, T 5. fee
2 WL A AT TP (FCH] T T2 2T ?
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(C) 31,425 (D) 5,4,3,1,2
133. @€ bR SR W& (FED *HSENR Sy w7l 27 2
1. e 2. AW 3. T 4. R 5. (S
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(C) 31,425 (D) 5,4,3,1,2
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133. TR d6 ST WA S HelahRE! STife M S ?

1. 7 2. @M 3. @™ 4. AR 5. fSen

(A) 3,1,2,4,5 (B) 54,1,3,2

(C) 3,1,4,25 (D) 5,4,3,1,2
133. ST T IR STl § § HH-1 37 W3l o farg |efe 2 ?

1. =X 2. ¥s*h 3.  ®EQ 4. TX 5. fSen

(A) 3,1,2,4,5 (B) 54,1,3,2

(C) 3,1,4,25 (D) 5,4,3,1,2
134. Which word features less than four different vowels ?

(A) Promotion (B) Sustainable (€) Question (D) Potential
134. (FCH! *97 GIfRGTeE 3 AU fon o Faae =g 2

(A) Promotion (B) Sustainable (€) Question (D) Potential
134. (@ =60 pRGA T o 2ias waael @itz 2

(A) Promotion (B) Sustainable (C©) Question (D) Potential
134. TR 99 HEemE HEsi @H T g § 2

(A) Promotion (B) Sustainable (C) Question (D) Potential
134. 0 ot # =R € %0 fire W 1ar § 2

(A) Promotion (B) Sustainable (C) Question (D) Potential
135. What letters would fill the blanks in

AO__BPP__ _ QDR__ _ SSFTT

(A) OCREQ (B) OCQER (C©) OCQRE (D) ORQCE
135. (06! 3 T=RE AO__BPP____ QDR__ _ SSFTT F & ZFPHz 7[5 F7 2

(A) OCREQ (B) OCQER (C©) OCQRE (D) ORQCE
135. (I 3efefer g o) T3 2

AO__BPP__ _ QDR__ _ SSFTT

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
135. 99 SRS AHG1 ST 3776, WA ST ?

AO__BPP__ _ QDR__ _ SSFTT

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
135. AO_BPP_ QDR ___ SSFTT # fiad T &l %4 T 318/ Wil ?

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE

-00o0-
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